Event Number L-09-17 Step 2

Title Construction Services Old Pompano Streetscape Improvements Section 108 Loan Project (Step 2)

 Issue Date
 5/16/2017 02:00:00 PM (ET)

 Close Date
 6/30/2017 02:00:00 PM (ET)

Responding Suppliers

Name	City	State	Response Submitted	Lines Responded	Response Total
The Whiting-Turner Contracting Company	Ft Lauderdale	FL	6/30/2017 01:57:28 PM (ET)	381	\$5,744,965.18
Burkhardt Construction, Inc.	West Palm Beach	FL	6/29/2017 01:12:26 PM (ET)	381	\$5,789,955.89
West Construction, Inc.	Lantana	FL	6/30/2017 01:11:33 PM (ET)	381	\$5,818,582.329
State Contracting & Engineering Corporation	Hollywood	FL	6/30/2017 01:16:01 PM (ET)	381	\$7,999,947.048

L-09-17	Step 2
---------	--------

The Whiting-Turner Contracting Co. Burkhardt Construction, Inc. 1901 W Cypress Creek Road 1400 Alabama Avenue Ft. Lauderdale, FL 33309 West Palm beach, FL 33401 **UOM QTY** Line **Description** Unit **Extended** Unit Extended Phase 1 Subtotal \$2,259,142,47 \$2.179.596.20 Mobilization LS \$137,728,00 \$137.728.00 \$104,320.00 \$104.320.00 1.1 1.2 Maintenance of Traffic LS \$8,256.00 \$8,256.00 \$130,000.00 \$130,000.00 1.3 Bonds and Insurance LS \$169,580.00 \$169,580.00 \$100,000.00 \$100,000.00 1.4 Permit Fees AL \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 1.5 Construction Contingency ΑL \$250,000.00 \$250,000.00 \$250,000.00 \$250,000.00 Consideration for Indemnification LS \$10.00 \$10.00 \$10.00 \$10.00 1.6 EΑ Remove and Dispose of Existing Drainage Structure \$480.00 \$4,320.00 \$480.00 \$4,320.00 Remove and Dispose of Existing Drainage Pipe LF 470 \$6.617.60 \$6.617.60 \$14.08 \$14.08 Furnish and Install Type C Drainage Structure with Curb Inlet EΑ \$3,264.00 \$19,584.00 \$3,264.00 \$19,584.00 1.9 6 \$23,232.00 1.10 Furnish and Install 48" Round Drainage Structure with Curb Inlet EΑ \$3,872.00 \$23,232.00 \$3,872.00 6 Furnish and Install 48" Round Drainage Structure with Manhole Cover 1.11 EΑ 6 \$3,616.00 \$21,696.00 \$3,616.00 \$21,696.00 1.12 Furnish and Install 48" Round Drainage Structure with Catch Basin Inlet EΑ \$3,968.00 \$3,968.00 \$3,968.00 \$3,968.00 LF Furnish and Install 15" RCP Drainage Pipe 700 \$60.16 1.13 \$42,112.00 \$60.16 \$42,112.00 1.14 Furnish and Install 18" RCP Drainage Pipe LF 110 \$66.56 \$7,321.60 \$66.56 \$7,321.60 Furnish and Install 18" RCP Exfiltration Trench LF 70 \$9.856.00 1.15 \$140.80 \$9.856.00 \$140.80 1.16 EΑ \$800.00 \$4,800.00 \$800.00 \$4,800.00 Connect to Existing Drainage Pipe 1.17 Furnish and Install Pollution Retardant Baffle EΑ 1 \$832.00 \$832.00 \$832.00 \$832.00 Furnish and Install 6" DIP Watermain Pipe LF 30 \$1.689.60 1.18 \$56.32 \$1.689.60 \$56.32 \$5,888.00 1.19 Furnish and Install 8" DIP Watermain Pipe LF 100 \$58.88 \$5,888.00 \$58.88 \$65,894.40 LF 990 \$65,894.40 1.20 Furnish and Install 10" DIP Watermain Pipe \$66.56 \$66.56 TONS \$9,984.00 \$15,974.40 \$9,984.00 \$15,974.40 Furnish and Install Pressure Main Fittings 1.6 1.22 Furnish and Install New Fire Hydrant Assembly EΑ \$12,480.00 \$6,240.00 \$12,480.00 \$6,240.00 1.23 Remove and Salvage Existing Fire Hydrant Assembly EΑ \$736.00 \$1,472.00 \$736.00 \$1,472.00 Connect to Existing Water Main EΑ \$2,272.00 \$6,816.00 \$2,272.00 \$6,816.00 1.24 1.25 Furnish and Install 6" Gate Valves EΑ \$1,472,00 \$1,472,00 \$1,472.00 \$1,472.00 1.26 Furnish and Install 8" Gate Valves EΑ \$1.984.00 \$5.952.00 \$1.984.00 \$5.952.00 1.27 Furnish and Install 10" Gate Valves EΑ \$2,752.00 \$2,752.00 \$2,752.00 \$2,752.00 EΑ Furnish and Install Tapping Valve and Sleeve \$6,400.00 \$6,400.00 1.28 \$6,400.00 \$6,400.00 1.29 Abandon and Grout Existing Water Main LF 1020 \$9.60 \$9,792.00 \$9.60 \$9,792.00 Furnish and Install 1" Water Service, Connection to Existing Meter EΑ \$1.760.00 1.30 \$1.760.00 \$15,840.00 \$15.840.00 \$928.00 Furnish and Install Sample Points EΑ \$928.00 \$1,856.00 \$1,856.00 1.31 1.32 Furnish and Install 16" PVC (C900) Reclaimed Watermain Pipe LF 530 \$89.60 \$47,488.00 \$89.60 \$47,488.00 \$12,096,00 \$6.048.00 \$12,096,00 \$6.048.00 1.33 Furnish and Install Pressure Main Fittings TONS 0.5 \$2,880.00 1.34 Furnish and Install 10" Gate Valves EΑ \$2,880.00 \$2,880.00 \$2,880.00 1.35 Furnish and Install 16" Butterfly Valves EΑ \$9,216.00 \$9,216.00 \$9,216.00 \$9,216.00 1 1.36 Reline Existing Sewer Lateral EΑ 13 \$4.608.00 \$59.904.00 \$4,608.00 \$59,904.00

West Construction, Inc.

820 N 4th Street

Lantana, FL 33462

Unit

State Contracting & Engineering Corp.

3800 N 29th Avenue

Hollywood, FL 33020

Unit

Extended

Unit

Extended

	Lantana, FL 33462		3462	Hollywood, FL 3302			
Line	Description	UOM	QTY	Unit	Extended	Unit	Extended
1	Phase 1 Subtotal		1		\$2,114,878.97		\$2,881,913.01
1.1	Mobilization	LS	1	\$187,000.00		\$275,000.00	
1.2	Maintenance of Traffic	LS	1	\$71,500.00		\$509,176.00	
1.3	Bonds and Insurance	LS	1	\$167,200.00		\$169,000.00	
1.4	Permit Fees	AL	1	\$2,500.00			
1.5	Construction Contingency	AL	1	\$250,000.00		\$250,000.00	
1.6	Consideration for Indemnification	LS	1	\$10.00			
1.7	Remove and Dispose of Existing Drainage Structure	EA	9	<b>\$000.00</b>			\$9,063.00
1.8	Remove and Dispose of Existing Drainage Pipe	LF	470			\$24.27	\$11,406.90
1.9	Furnish and Install Type C Drainage Structure with Curb Inlet	EA	6	. ,		\$4,039.73	\$24,238.38
1.10	Furnish and Install 48" Round Drainage Structure with Curb Inlet	EA	6	\$4,290.00	\$25,740.00	\$5,380.05	\$32,280.30
1.11	Furnish and Install 48" Round Drainage Structure with Manhole Cover	EA	6	\$3,960.00		\$4,460.36	\$26,762.16
1.12	Furnish and Install 48" Round Drainage Structure with Catch Basin Inlet	EA	1	\$3,850.00		\$4,954.96	\$4,954.96
1.13	Furnish and Install 15" RCP Drainage Pipe	LF	700			\$81.09	\$56,763.00
1.14	Furnish and Install 18" RCP Drainage Pipe	LF	110			\$117.18	\$12,889.80
1.15	Furnish and Install 18" RCP Exfiltration Trench	LF	70			\$158.25	\$11,077.50
1.16	Connect to Existing Drainage Pipe	EA	6	\$1,072.50	\$6,435.00	\$4,256.15	\$25,536.90
1.17	Furnish and Install Pollution Retardant Baffle	EA	1	\$467.50		\$935.04	\$935.04
1.18	Furnish and Install 6" DIP Watermain Pipe	LF	30	\$55.00	\$1,650.00	\$111.00	\$3,330.00
1.19	Furnish and Install 8" DIP Watermain Pipe	LF	100			\$76.39	\$7,639.00
1.20	Furnish and Install 10" DIP Watermain Pipe	LF	990			\$84.00	
1.21	Furnish and Install Pressure Main Fittings	TONS	1.6	\$13,200.00	\$21,120.00	\$13,127.00	\$21,003.20
1.22	Furnish and Install New Fire Hydrant Assembly	EA	2	\$4,950.00		\$7,713.00	\$15,426.00
1.23	Remove and Salvage Existing Fire Hydrant Assembly	EA	2	\$2,530.00	\$5,060.00	\$1,301.17	\$2,602.34
1.24	Connect to Existing Water Main	EA	3	\$2,750.00	\$8,250.00	\$3,485.00	\$10,455.00
1.25	Furnish and Install 6" Gate Valves	EA	1	\$1,292.50	\$1,292.50	\$1,463.00	\$1,463.00
1.26	Furnish and Install 8" Gate Valves	EA	3	\$1,430.00		\$1,764.72	\$5,294.16
1.27	Furnish and Install 10" Gate Valves	EA	1	\$1,650.00	\$1,650.00	\$8,758.00	\$8,758.00
1.28	Furnish and Install Tapping Valve and Sleeve	EA	1	\$6,462.50	\$6,462.50	\$8,758.00	
1.29	Abandon and Grout Existing Water Main	LF	1020	\$10.835	\$11,051.70	\$10.23	\$10,434.60
1.30	Furnish and Install 1" Water Service, Connection to Existing Meter	EA	9	\$1,072.50	\$9,652.50	\$3,060.96	\$27,548.64
1.31	Furnish and Install Sample Points	EA	2	\$533.50	\$1,067.00	\$1,598.95	\$3,197.90
1.32	Furnish and Install 16" PVC (C900) Reclaimed Watermain Pipe	LF	530	\$121.00	\$64,130.00	\$100.08	\$53,042.40
1.33	Furnish and Install Pressure Main Fittings	TONS	0.5	\$13,200.00	\$6,600.00	\$30,704.00	\$15,352.00
1.34	Furnish and Install 10" Gate Valves	EA	1	\$1,650.00	\$1,650.00	\$2,720.04	\$2,720.04
1.35	Furnish and Install 16" Butterfly Valves	EA	1	\$4,389.00	\$4,389.00	\$9,569.41	\$9,569.41
1.36	Reline Existing Sewer Lateral	EA	13	\$1,650.00	\$21,450.00	\$3,325.00	\$43,225.00

L-09-	17	Step	2
-------	----	------	---

1901 W Cypress Creek Road 1400 Alabama Avenue Ft. Lauderdale, FL 33309 West Palm beach, FL 33401 UOM QTY Line **Description** Unit **Extended** Unit Extended 1.37 Replace Existing Sewer Lateral EΑ 17 \$2,944,00 \$50,048,00 \$2.944.00 \$50.048.00 FPL Power Service, New Service Connection, and Coordination 1.38 EΑ \$3.840.00 \$7.680.00 \$3,200.00 \$6,400.00 Furnish and Install Meter, Lighting Control Panel with Lighting Contactor, Panelboard, Timer/Photocell EΑ 1.39 \$31,864.32 \$31,864.32 \$63,728.64 \$63,728.64 Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture, base, GFI WP, hand hole, fuses (Complete) EΑ \$8,412.16 1.40 26 \$8,412.16 \$218,716.16 \$218,716.16 Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching) LF 1000 \$9.24 \$9,240.00 \$9,240.00 1.41 \$9.24 1.42 Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching) 2500 \$20.65 \$51,625.00 \$20.65 \$51,625.00 1.43 Furnish and Install Conduit and Wire (3#1 in 1 1/2" conduit, cutting and patching) LF 900 \$21.55 \$19,395.00 \$21.56 \$19,404.00 Furnish and Install Pull boxes with traffic rated cover \$2,685.44 \$32,225.28 \$2,685.44 \$32,225.28 1.44 EΑ 12 1.45 Miscellaenous Electrical LS \$7,040.00 \$7,040.00 \$16,640.00 \$16,640.00 Remove and Dispose of Existing Asphalt Pavement SY 7100 \$3.84 \$27,264,00 \$27,264.00 1.46 \$3.84 Remove and Dispose of Existing Concrete 1650 \$10,560.00 \$10,560.00 1.47 SY \$6.40 \$6.40 1.48 Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4") SY 5000 \$10.88 \$54,400.00 \$10.88 \$54,400.00 Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4") \$36,600,00 \$36,150,00 1.49 SY 5000 \$7.32 \$7.23 Furnish and Place Limerock Base (8" Thickness) SY 5000 \$14.72 \$73,600.00 \$73,600.00 1.50 \$14.72 1.51 Stabilization of Subgrade (12" Thickness) SY 5000 \$8.32 \$41,600.00 \$8.32 \$41,600.00 Furnish and Install Type F Curb and Gutter LF \$24.96 \$46.675.20 1.52 1870 \$46.675.20 \$24.96 \$960.00 1.53 Remove and Reinstall Existing Sign EΑ \$192.00 \$960.00 \$192.00 LF 4000 \$1,520.00 \$1,520.00 1.54 Furnish and Place Temporary Striping \$0.38 \$0.38 LF 410 \$2.11 \$865.10 \$865.10 Furnish and Place 4" Thermoplastic (solid white/blue) \$2.11 Furnish and Place 6" Thermoplastic (solid white/yellow) LF 1390 \$1.40 \$1,946.00 \$1,959.90 \$1.41 Furnish and Place 6" Thermoplastic (double yellow) LF 1900 \$2.56 \$4,864.00 \$2.56 \$4,864.00 Furnish and Place 12" Thermoplastic (crosswalk) 280 \$2.56 \$716.80 \$2.56 \$716.80 Furnish and Place 18" Thermoplastic (solid yellow) LF 20 \$2.95 \$59.00 \$2.94 \$58.80 1.60 Furnish and Place 24" Thermoplastic (stop bar) LF 70 \$5.37 \$375.90 \$5.38 \$376.60 1.61 Furnish and Place Pavement Message & Symbols EΑ 12 \$211.20 \$2,534.40 \$211.20 \$2,534.40 Furnish and Place Reflective Pavement Markers EΑ 53 \$257.58 1.62 \$4.86 \$257.58 \$4.86 1.63 Furnish and Place ADA Detectable Warning EΑ 27 \$608.00 \$16,416.00 \$608.00 \$16,416.00 SF \$199,320,00 1.64 Furnish and Install Concrete Sidewalk 26400 \$7.55 \$7.55 \$199.320.00 Furnish and Install Concrete Sidewalk with Integral Color SF \$34,560.00 \$34,560.00 1.65 3000 \$11.52 \$11.52 Furnish and Install LandscapeForms Austin Litter \$3,072.00 \$30,720.00 \$3,878.40 \$38,784.00 1.66 EΑ 10 \$19,008.00 1.67 EΑ 10 \$60,160,00 Furnish and Install LandscapeForms Austin Bench \$6.016.00 \$1,900.80 EΑ 17 1.68 Furnish and Install Clusia rosea, Pitch Apple (B&B, 12' HT, 48" SPRD, 3" DBH) \$1,472.00 \$25,024.00 \$614.40 \$10,444.80

The Whiting-Turner Contracting Co.

L-09-17 Step 2	West Construction, Inc.
	000 NL 4th Others

820 N 4th Street 3800 N 29th Avenue Lantana, FL 33462 Hollywood, FL 33020 UOM QTY Extended Line **Description** Unit **Extended** Unit 1.37 Replace Existing Sewer Lateral EΑ 17 \$1,930,50 \$32.818.50 \$6,798,46 \$115,573.82 FPL Power Service, New Service Connection, and Coordination 1.38 EΑ \$3.850.00 \$7,700.00 \$6.500.00 \$13,000,00 Furnish and Install Meter, Lighting Control Panel with Lighting Contactor, Panelboard, Timer/Photocell EΑ 1.39 \$18,150.00 \$36,300.00 \$19,389.40 \$38,778.80 Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture, base, GFI WP, hand hole, fuses (Complete) EΑ \$8,841.80 \$229,886.80 1.40 26 \$7,595.60 \$197,485.60 Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching) LF 1000 \$7,150.00 \$11,770.00 1.41 \$7.15 \$11.77 1.42 Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching) 2500 \$4.84 \$12,100.00 \$15.40 \$38,500.00 1.43 Furnish and Install Conduit and Wire (3#1 in 1 1/2" conduit, cutting and patching) 900 \$18.15 \$16,335.00 \$17.66 \$15,894.00 Furnish and Install Pull boxes with traffic rated cover \$17,595.60 \$1,466.30 \$1,266.43 \$15,197.16 1.44 EΑ 12 1.45 Miscellaenous Electrical LS \$5,500.00 \$5,500.00 \$6,500.00 \$6,500.00 Remove and Dispose of Existing Asphalt Pavement SY 7100 \$35,145.00 \$3.71 \$26,341.00 1.46 \$4.95 Remove and Dispose of Existing Concrete \$24,502.50 1.47 SY 1650 \$14.85 \$10.35 \$17,077.50 1.48 Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4") SY 5000 \$8.69 \$43,450.00 \$8.99 \$44,950.00 Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4") \$31,625,00 1.49 SY 5000 \$6.325 \$6.34 \$31,700.00 Furnish and Place Limerock Base (8" Thickness) SY 5000 \$16.50 \$82,500.00 \$11.76 \$58,800.00 1.50 1.51 Stabilization of Subgrade (12" Thickness) SY 5000 \$8.80 \$44,000.00 \$2.34 \$11,700.00 Furnish and Install Type F Curb and Gutter LF \$22.00 \$19.74 1.52 1870 \$41.140.00 \$36.913.80 1.53 Remove and Reinstall Existing Sign EΑ \$220.00 \$1,100.00 \$203.50 \$1,017.50 LF 4000 \$1,100.00 1.54 Furnish and Place Temporary Striping \$0.275 \$1.37 \$5,480.00 LF 410 \$225.50 \$0.94 \$385.40 Furnish and Place 4" Thermoplastic (solid white/blue) \$0.55 Furnish and Place 6" Thermoplastic (solid white/yellow) LF 1390 \$1,070.30 \$1,529.00 \$0.77 \$1.10 Furnish and Place 6" Thermoplastic (double vellow) LF 1900 \$1.54 \$2,926.00 \$2.20 \$4,180.00 ΙF 280 \$723.80 \$2.48 \$694.40 Furnish and Place 12" Thermoplastic (crosswalk) \$2.585 Furnish and Place 18" Thermoplastic (solid yellow) LF 20 \$3.30 \$66.00 \$3.85 \$77.00 1.60 Furnish and Place 24" Thermoplastic (stop bar) LF 70 \$4.40 \$308.00 \$5.25 \$367.50 1.61 Furnish and Place Pavement Message & Symbols EΑ 12 \$165.00 \$1,980.00 \$385.00 \$4,620.00 EΑ Furnish and Place Reflective Pavement Markers 53 \$233.20 \$291.50 1.62 \$4.40 \$5.50 1.63 Furnish and Place ADA Detectable Warning EΑ 27 \$550.00 \$14,850.00 \$495.00 \$13,365.00 SF 1.64 Furnish and Install Concrete Sidewalk 26400 \$5.50 \$145,200,00 \$5.70 \$150,480.00 Furnish and Install Concrete Sidewalk with Integral Color SF \$26,400.00 \$34,290.00 1.65 3000 \$8.80 \$11.43 Furnish and Install LandscapeForms Austin Litter \$4,400.00 \$44,000.00 \$2,000.00 \$20,000.00 1.66 EΑ 10 1.67 EΑ 10 \$2,420.00 \$24,200.00 \$3,000,00 Furnish and Install LandscapeForms Austin Bench \$30,000.00 EΑ 17 1.68 Furnish and Install Clusia rosea, Pitch Apple (B&B, 12' HT, 48" SPRD, 3" DBH) \$500.50 \$8,508.50 \$600.00 \$10,200.00

State Contracting & Engineering Corp.

L-09-17 Step 2	
----------------	--

1901 W Cypress Creek Road 1400 Alabama Avenue Ft. Lauderdale, FL 33309 West Palm beach, FL 33401 **UOM QTY Extended** Line **Description** Unit Unit Extended Furnish and Install Cordia sebestena, Orange Geiger (B&B, 10' HT, 42" SPRD, 2" EΑ 1.69 CAL) \$371.20 \$1,216.00 \$1,216.00 \$371.20 lΕΑ 1.70 Furnish and Install Lagerstroemia x 'Natchez' (B&B, 10' HT, 42" SPRD, 2" CAL) \$1,024.00 \$371.20 \$3,340.80 \$9,216.00 Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6' SPRD, 3"CAL) EΑ \$1,024.00 1.71 \$2,880.00 \$5,760.00 \$2,048.00 1.72 Furnish and Install Ptychosperma elegans (B&B, 8' CT, FULL) EΑ 15 \$1,088.00 \$16,320.00 \$6,912.00 \$460.80 Furnish and Install Veirchia montgomeryana, Montgomery Palm (B&B, 10'-12' 1.73 CT. TRIPLE TRUNK) EΑ 11 \$1,216.00 \$13,376.00 \$704.00 \$7,744.00 Furnish and Install Crinum augustum 'Queen Emma', 'Queen Emma' Crinum (36" HT, FULL) 1.74 EΑ 56 \$102.40 \$5,734.40 \$44.80 \$2,508.80 Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL) 730 \$23.04 \$16,819.20 \$6,540.80 EΑ \$8.96 Furnish and Install Ficus microcarpa 'Green Island', Green Island Ficus (12" HT, FULL) EΑ 1.76 685 \$23.04 \$15,782.40 \$10.24 \$7,014.40 EΑ 1.77 Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD) 126 \$13.44 \$1.693.44 \$725.76 \$5.76 Furnish and Install Paspalum notatum 'Argentine', Bahia Grass (SOD) 4694 \$1.15 \$5,398.10 \$0.47 \$2,206.18 1.78 1.79 Tree Removal EΑ \$512.00 \$1,024.00 \$192.00 \$384.00 1.80 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F LCS Radius 4'x15' EΑ 19 \$28.11 \$534.09 \$44.80 \$851.20 1.81 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, RCS Radius 4'x15' 18 \$28.11 \$505.98 \$44.80 \$806.40 1.82 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, SST Radius 4'x30' EΑ 37 \$28.11 \$1,040.07 \$44.80 \$1,657.60 29 \$1,299.20 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10 EΑ \$28.11 \$815.19 \$44.80 1.83 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-12 EΑ 12 1.84 \$28.11 \$337.32 \$44.80 \$537.60 1.85 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15 EΑ 62 \$28.11 \$1.742.82 \$44.80 \$2,777.60 1.86 Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser EΑ 15 \$12.10 \$181.50 \$128.00 \$1,920.00 Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2" EΑ \$940.80 \$5,644.80 \$4,608.00 1.87 6 \$768.00 1.88 Furnish and Install Isolation Valve: Nibco T-113 1-1/2" EΑ \$587.52 \$1,175.04 \$64.00 \$128.00 1.89 Furnish and Install Pressure Vaccum Breaker: Zurn 720A 1-1/2" EΑ \$1.179.65 \$1,179.65 \$793.60 \$793.60 Furnish and Install Water Meter 1" EΑ \$2,176.00 \$1,920.00 1.90 \$2,176.00 \$1,920.00 1.91 Furnish and Install Solar Controller: DIG LEIT XRC EΑ \$64.46 \$64.46 \$2,432.00 \$2,432.00 Furnish and Install Wired Rain Sensor: Rain Bird RSD-CEx EΑ \$4.029.15 \$4.029.15 1.92 \$115.20 \$115.20 LF 1.93 Furnish and Install Lateral Line: PVC Schedule 40 2880 \$2.53 \$7,286.40 \$3.20 \$9,216.00 1.94 Furnish and Install Mainline: PVC Schedule 40 LF 1160 \$2.53 \$2,934.80 \$3,712.00 \$3.20 Furnish and Install Pipe Sleeve: PVC Schedule 80 800 \$17.79 \$14,232.00 \$6.40 \$5,120.00

The Whiting-Turner Contracting Co.

State Contracting & Engineering Corp. West Construction, Inc. 820 N 4th Street 3800 N 29th Avenue

		Lantana, FL 33462		3462	Hollywood, FL 33020		
Line	Description	UOM	QTY	Unit	Extended	Unit	Extended
	Furnish and Install Cordia sebestena, Orange Geiger (B&B, 10' HT, 42" SPRD, 2"						
1.69	CAL)	EA	1	\$335.50	\$335.50	\$400.00	\$400.00
1.70	Furnish and Install Lagerstroemia x 'Natchez' (B&B, 10' HT, 42" SPRD, 2" CAL)	EA	9	\$445.50	\$4,009.50	\$500.00	\$4,500.00
	Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6'						
1.71	SPRD, 3"CAL)	EA	2	\$693.00		\$900.00	· · · ·
1.72	Furnish and Install Ptychosperma elegans (B&B, 8' CT, FULL)	EA	15	\$418.00	\$6,270.00	\$500.00	\$7,500.00
	Furnish and Install Veirchia montgomeryana, Montgomery Palm (B&B, 10'-12'						
1.73	CT, TRIPLE TRUNK)	EA	11	\$550.00	\$6,050.00	\$700.00	\$7,700.00
	Furnish and Install Crinum augustum 'Queen Emma', 'Queen Emma' Crinum (36"						
1.74	HT, FULL)	EA	56			\$170.64	\$9,555.84
1.75	Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL)	EA	730	\$15.40	\$11,242.00	\$55.64	\$40,617.20
	Furnish and Install Ficus microcarpa 'Green Island', Green Island Ficus (12" HT,						
1.76	FULL)	EA	685	\$15.40	\$10,549.00	\$55.64	\$38,113.40
1.77	Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD)	EA	126				\$6,506.64
1.78	Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD)	SF	4694	\$0.33		\$1.28	
1.79	Tree Removal	EA	2	\$880.00	\$1,760.00	\$350.00	\$700.00
1.80	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F LCS Radius 4'x15'	EA	19	\$21.45	\$407.55	\$55.00	\$1,045.00
1.81	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, RCS Radius 4'x15'	EA	18	\$21.45	\$386.10	\$55.00	\$990.00
1.82	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, SST Radius 4'x30'	EA	37	\$21.45	·	\$55.00	
1.83	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10	EA	29		·	\$55.00	. ,
1.84	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-12	EA	12				
1.85	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15	EA	62			\$55.00	. ,
1.86	Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser	EA	15	· ·		\$45.00	
1.87	Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2"	EA	6			\$375.00	
1.88	Furnish and Install Isolation Valve: Nibco T-113 1-1/2"	EA	2	\$330.00			
1.89	Furnish and Install Pressure Vaccum Breaker: Zurn 720A 1-1/2"	EA	1	\$935.00		\$3,500.00	
1.90	Furnish and Install Water Meter 1"	EA	1	\$3,850.00		\$1,000.00	
1.91	Furnish and Install Solar Controller: DIG LEIT XRC	EA	1	\$1,650.00	. ,	\$3,000.00	. ,
1.92	Furnish and Install Wired Rain Sensor: Rain Bird RSD-CEx	EA	1	\$137.50	·	\$300.00	
1.93	Furnish and Install Lateral Line: PVC Schedule 40	LF	2880			\$3.50	
1.94	Furnish and Install Mainline: PVC Schedule 40	LF	1160			\$6.50	•
1.95	Furnish and Install Pipe Sleeve: PVC Schedule 80	LF	800	\$7.975	\$6,380.00	\$10.00	\$8,000.00

L-09-17 Step 2			The Whiting-Turne	r Contracting Co.	<b>Burkhardt Const</b>	truction, Inc.
			1901 W Cypress C	reek Road	1400 Alabama A	Avenue
			Ft. Lauderdale, FL	33309	West Palm bead	ch, FL 33401
Description	UOM	QTY	Unit	Extended	Unit	Extended
Phase 2 Subtotal		1		\$1,189,116.03		\$1,216,564.66
Mobilization	10	1	\$24.2EC.00	\$24.2E6.00	<b>\$20,022,00</b>	¢20 022 00

				Ft. Lauderdale, FL 33309		West Palm bead	
Line	Description	UOM	QTY	Unit	Extended		Extended
2	Phase 2 Subtotal		1		\$1,189,116.03		\$1,216,564.66
2.1	Mobilization	LS	1	\$24,256.00			\$28,032.00
2.2	Maintenance of Traffic	LS	1	\$6,912.00			\$80,000.00
2.3	Bonds and Insurance	LS	1	\$10,368.00	\$10,368.00		\$10.00
2.4	Permit Fees	AL	1	\$2,500.00			
2.5	Construction Contingency	AL	1	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
2.6	Consideration for Indemnification	LS	1	\$10.00	\$10.00	\$10.00	\$10.00
2.7	Remove and Dispose of Existing Drainage Structure	EA	1	\$480.00	\$480.00	\$480.00	\$480.00
2.8	Remove and Dispose of Existing Drainage Pipe	LF	20	\$14.72	\$294.40		\$300.80
2.9	Furnish and Install Type C Drainage Structure with Curb Inlet	EA	6	\$3,264.00	\$19,584.00		\$19,584.00
2.10	Furnish and Install 48" Round Drainage Structure with Curb Inlet	EA	6	\$3,872.00	\$23,232.00	\$3,872.00	\$23,232.00
2.11	Furnish and Install 48" Round Drainage Structure with Manhole Cover	EA	3	\$3,616.00	\$10,848.00	\$3,616.00	\$10,848.00
2.12	Furnish and Install 15" CMP Drainage Pipe	LF	20			\$66.56	\$1,331.20
2.13	Furnish and Install 15" RCP Drainage Pipe	LF	120	\$60.16	\$7,219.20		\$7,219.20
2.14	Furnish and Install 18" RCP Drainage Pipe	LF	220	•	\$14,643.20	\$66.56	\$14,643.20
2.15	Furnish and Install 18" RCP Exfiltration Trench	LF	710			\$140.80	\$99,968.00
2.16	Connect to Existing Drainage Pipe	EA	2	\$294.40			\$588.80
2.17	Furnish and Install Pollution Retardant Baffle	EA	7	\$832.00			\$5,824.00
2.18	Furnish and Install 8" DIP Watermain Pipe	LF	630	\$57.60	\$36,288.00	\$57.60	\$36,288.00
2.19	Furnish and Install 10" DIP Watermain Pipe	LF	20	\$69.12	\$1,382.40	\$69.12	\$1,382.40
2.20	Furnish and Install Pressure Main Fittings	TONS	0.4	\$12,160.00	\$4,864.00	\$12,160.00	\$4,864.00
2.21	Furnish and Install 8" Gate Valves	EA	4	\$1,984.00	\$7,936.00	\$1,984.00	\$7,936.00
2.22	Furnish and Install Tapping Valve and Sleeve	EA	1	\$9,472.00			\$9,472.00
2.23	Abandon and Grout Existing Water Main	LF	310	\$8.96	\$2,777.60	\$8.96	\$2,777.60
2.24	Furnish and Install 1" Water Service, Connection to Existing Meter	EA	1	\$1,664.00			\$1,664.00
2.25	Furnish and Install 10" PVC (C900) Reclaimed Watermain Pipe	LF	980	\$42.24	. ,	· ·	\$41,395.20
2.26	Furnish and Install Pressure Main Fittings	TONS	0.3	\$12,416.00	\$3,724.80	\$12,416.00	\$3,724.80
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,						
2.27	base, GFI WP, hand hole, fuses (Complete)	EA	21	\$8,354.56			\$175,445.76
2.28	Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching)	LF	600		\$5,550.00		\$5,544.00
2.29	Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	1600				\$33,040.00
2.30	Furnish and Install Pull boxes with traffic rated cover	EA	6	\$2,485.76	\$14,914.56	\$2,485.76	\$14,914.56
2.31	Miscellaenous Electrical	LS	1	\$7,040.00			\$7,040.00
2.32	Remove and Dispose of Existing Asphalt Pavement	SY	3500				\$13,440.00
2.33	Remove and Dispose of Existing Concrete	SY	650	\$6.40	\$4,160.00	\$6.40	\$4,160.00

L-09-17 Step 2	
----------------	--

820 N 4th Street 3800 N 29th Avenue Lantana, FL 33462 Hollywood, FL 33020 **UOM QTY** Line **Description** Unit **Extended** Unit Extended Phase 2 Subtotal \$1,271,216,842 \$1,718,164,798 2.1 Mobilization LS \$110.000.00 \$110.000.00 \$160,000,00 \$160,000.00 Maintenance of Traffic LS \$55,000.00 \$55,000.00 \$349,980.00 \$349,980.00 Bonds and Insurance LS \$28,600.00 \$28,600.00 \$41,500.00 \$41,500.00 Permit Fees 2.4 AL \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 2.5 Construction Contingency ΑL \$150,000.00 \$150,000.00 \$150,000.00 \$150,000.00 Consideration for Indemnification LS \$10.00 \$10.00 \$10.00 2.6 \$10.00 \$1,007,00 Remove and Dispose of Existing Drainage Structure EΑ \$550.00 \$550.00 \$1,007.00 LF 20 \$220.00 \$24.27 \$485.40 Remove and Dispose of Existing Drainage Pipe \$11.00 2.9 EΑ \$4,152.50 \$4,039.73 \$24,238.38 Furnish and Install Type C Drainage Structure with Curb Inlet 6 \$24,915.00 Furnish and Install 48" Round Drainage Structure with Curb Inlet EΑ \$4,290.00 \$25,740.00 \$5,380.05 \$32,280.30 2.10 6 Furnish and Install 48" Round Drainage Structure with Manhole Cover 2.11 EΑ \$4,785.00 \$14,355.00 \$4,460.36 \$13,381.08 2.12 Furnish and Install 15" CMP Drainage Pipe LF 20 \$60.50 \$1,210.00 \$153.57 \$3.071.40 LF Furnish and Install 15" RCP Drainage Pipe \$49.50 \$5,940.00 \$109.29 2.13 120 \$13,114.80 2.14 Furnish and Install 18" RCP Drainage Pipe LF 220 \$60.50 \$13,310.00 \$108.00 \$23,760.00 Furnish and Install 18" RCP Exfiltration Trench LF 2.15 710 \$108.90 \$77.319.00 \$129.88 \$92.214.80 EΑ \$1,045.00 \$2,090.00 \$1,512.00 \$3,024.00 2.16 Connect to Existing Drainage Pipe 2.17 Furnish and Install Pollution Retardant Baffle EΑ \$550.00 \$3,850.00 \$935.04 \$6,545.28 Furnish and Install 8" DIP Watermain Pipe LF 630 \$71.50 2.18 \$45.045.00 \$80.00 \$50,400.00 2.19 \$82.50 Furnish and Install 10" DIP Watermain Pipe LF 20 \$1,650.00 \$84.00 \$1,680.00 \$12,100.00 \$4,840.00 \$37,290.84 2.20 Furnish and Install Pressure Main Fittings TONS 0.4 \$14,916.336 \$1,485.00 \$5,940.00 \$1,764.72 \$7,058.88 Furnish and Install 8" Gate Valves EΑ Furnish and Install Tapping Valve and Sleeve EΑ \$6,600.00 \$6,600.00 \$10,516.00 2.22 \$10,516.00 2.23 Abandon and Grout Existing Water Main LF 310 \$10.835 \$3,358.85 \$10.23 \$3,171.30 \$1,045.00 Furnish and Install 1" Water Service, Connection to Existing Meter EΑ \$1,045.00 \$4,443.00 \$4,443.00 2.24 Furnish and Install 10" PVC (C900) Reclaimed Watermain Pipe LF 2.25 980 \$82.50 \$80.850.00 \$67.80 \$66,444.00 2.26 Furnish and Install Pressure Main Fittings TONS 0.3 \$13,200.00 \$3,960.00 \$23,290.84 \$6,987.252 Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture, base, GFI WP, hand hole, fuses (Complete) EΑ 2.27 21 \$8,054.20 \$169,138.20 \$7,597.14 \$159,539.94 2.28 Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching) LF 600 \$15.576 \$9.345.60 \$11.78 \$7.068.00 LF 2.29 Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching) 1600 \$12.375 \$19,800.00 \$13.18 \$21.088.00 Furnish and Install Pull boxes with traffic rated cover EΑ \$733.70 \$4,402.20 \$1,266.43 \$7,598.58 2.30 Miscellaenous Electrical LS \$5,500.00 \$5,500.00 \$6,500.00 \$6,500.00 2.31 Remove and Dispose of Existing Asphalt Pavement SY 3500 \$17,325.00 \$12,985,00 2.32 \$4.95 \$3.71 Remove and Dispose of Existing Concrete SY 650 \$14.85 \$9,652.50 \$10.35 \$6,727.50

West Construction, Inc.

State Contracting & Engineering Corp.

L-09-17 Step 2			The Whiting-Turne	er Contracting Co.	Burkhardt Cons	truction, Inc.
			1901 W Cypress C	Creek Road	1400 Alabama A	Avenue
			Ft. Lauderdale, FL	33309	West Palm bead	ch, FL 33401
Description	UOM	QTY	Unit	Extended	Unit	Extended

				Ft. Lauderdale, FL	. 33309	West Palm bead	h, FL 33401
Line	Description		QTY	Unit	Extended		Extended
2.34	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	3750		. ,		\$40,800.00
2.35	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	3750				\$27,112.50
2.36	Furnish and Place Limerock Base (8" Thickness)	SY	3750	·		· ·	\$55,200.00
2.37	Stabilization of Subgrade (12" Thickness)	SY	3750				\$31,200.00
2.38	Concrete Driveway Restoration	SY	45	\$93.44			\$4,204.80
2.39	Furnish and Install Type D Curb	LF	1650	•		\$18.62	\$30,723.00
2.40	Remove and Reinstall Existing Sign	EA	5	\$211.20			\$1,056.00
2.41	Furnish and Place Temporary Striping	LF	2150	\$0.38	\$817.00	\$0.38	\$817.00
2.42	Furnish and Place 4" Thermoplastic (solid white/blue)	LF	310	\$2.11	\$654.10	\$2.11	\$654.10
2.43	Furnish and Place 6" Thermoplastic (solid white/yellow)	LF	980	\$1.41	\$1,381.80		\$1,381.80
2.44	Furnish and Place 6" Thermoplastic (double yellow)	LF	820	\$2.56	\$2,099.20		\$2,099.20
2.45	Furnish and Place 12" Thermoplastic (crosswalk)	LF	50	\$2.56	\$128.00	\$2.56	\$128.00
2.46	Furnish and Place 24" Thermoplastic (stop bar)	LF	120	\$5.38	\$645.60	\$5.38	\$645.60
2.47	Furnish and Place Reflective Pavement Markers	EA	32	\$4.86	\$155.52	\$4.86	\$155.52
2.48	Furnish and Place ADA Detectable Warning	EA	18	\$608.00	\$10,944.00	\$608.00	\$10,944.00
2.49	Furnish and Install Concrete Sidewalk	SF	20550	\$7.55	\$155,152.50	\$7.55	\$155,152.50
	Furnish and Install Cordia sebestena, Orange Geiger (B&B, 10' HT, 42" SPRD, 2"						
2.50	CAL)	EA	10	\$1,216.00	\$12,160.00	\$371.20	\$3,712.00
	Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6'						
2.51	SPRD, 3"CAL)	EA	3	\$2,880.00	\$8,640.00	\$1,024.00	\$3,072.00
	Furnish and Install Tabebuia heterophylla, Pink Tabebuia (B&B, 10' HT, 42"						
2.52	SPRD, 2" CAL)	EA	7	\$960.00	\$6,720.00	\$371.20	\$2,598.40
2.53	Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL)	EA	353	\$23.04	\$8,133.12	\$8.96	\$3,162.88
	Furnish and Install Ficus microcarpa 'Green Island', Green Island Ficus (12" HT,						
2.54	FULL)	EA	418	\$23.04	\$9,630.72	\$10.24	\$4,280.32
2.55	Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD)	EA	28	\$13.44	\$376.32	\$5.76	\$161.28
2.56	Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD)	SF	2872	\$1.15	\$3,302.80	\$0.47	\$1,349.84
2.57	Tree Removal	EA	5	\$844.80	\$4,224.00	\$460.80	\$2,304.00
2.58	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10	EA	143	\$28.11	\$4,019.73	\$44.80	\$6,406.40
2.59	Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser	EA	6	\$12.10	\$72.60	\$128.00	\$768.00
2.60	Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2"	EA	3	\$940.80	\$2,822.40	\$768.00	\$2,304.00
2.61	Furnish and Install Lateral Line: PVC Schedule 40	LF	2280	\$2.53	\$5,768.40	\$3.20	\$7,296.00
2.62	Furnish and Install Mainline: PVC Schedule 40	LF	380		\$961.40	\$6.40	\$2,432.00
2.63	Furnish and Install Pipe Sleeve: PVC Schedule 80	LF	1060	\$17.79	\$18,857.40	\$6.40	\$6,784.00

L-09-17	Step 2
---------	--------

West Construction, Inc. State Contracting & Engineering Corp. 820 N 4th Street 3800 N 29th Avenue Lantana, FL 33462 Hollywood, FL 33020 **UOM QTY** Line Description Unit **Extended** Unit Extended 2.34 Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4") SY 3750 \$8.69 \$32,587,50 \$8.99 \$33,712,50 Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4") \$23,775.00 2.35 SY 3750 \$6.325 \$23,718,75 \$6.34 Furnish and Place Limerock Base (8" Thickness) SY 3750 \$16.50 \$61,875.00 \$11.76 \$44,100.00 2.36 Stabilization of Subgrade (12" Thickness) SY 3750 \$8.80 \$33,000.00 \$5.24 \$19,650.00 2.38 Concrete Driveway Restoration SY 45 \$66.00 \$2,970.00 \$163.45 \$7,355.25 2.39 Furnish and Install Type D Curb LF 1650 \$22.00 \$36,300.00 \$12.65 \$20,872.50 Remove and Reinstall Existing Sign EΑ \$220.00 \$1,100.00 \$204.00 \$1,020.00 2.40 Furnish and Place Temporary Striping LF 2150 \$0.275 \$591.25 \$1.38 \$2,967.00 LF \$170.50 \$0.94 \$291.40 2.42 Furnish and Place 4" Thermoplastic (solid white/blue) 310 \$0.55 Furnish and Place 6" Thermoplastic (solid white/yellow) LF 980 \$754.60 2.43 \$0.77 \$1.10 \$1,078.00 2.44 Furnish and Place 6" Thermoplastic (double yellow) 820 \$1.54 \$1,262.80 \$2.20 \$1,804.00 Furnish and Place 12" Thermoplastic (crosswalk) 2.45 LF 50 \$2.585 \$129.25 \$2.50 \$125.00 2.46 Furnish and Place 24" Thermoplastic (stop bar) LF 120 \$528.00 \$5.22 \$626.40 \$4.40 EΑ Furnish and Place Reflective Pavement Markers \$140.80 \$176.00 2.47 32 \$4.40 \$5.50 \$495.00 2.48 Furnish and Place ADA Detectable Warning EΑ 18 \$550.00 \$9,900.00 \$8,910.00 Furnish and Install Concrete Sidewalk 20550 2.49 \$5.50 \$113,025.00 \$5.70 \$117.135.00 Furnish and Install Cordia sebestena, Orange Geiger (B&B, 10' HT, 42" SPRD, 2' 2.50 CAL) EΑ 10 \$335.50 \$3,355.00 \$400.00 \$4,000.00 Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6' 2.51 SPRD, 3"CAL) EΑ \$693.00 \$2,079.00 \$900.00 \$2,700.00 Furnish and Install Tabebuia heterophylla, Pink Tabebuia (B&B, 10' HT, 42" 2.52 SPRD, 2" CAL) EΑ \$500.50 \$3,503.50 \$400.00 \$2,800.00 2.53 Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL) EΑ 353 \$15.40 \$5,436.20 \$55.64 \$19,640,92 Furnish and Install Ficus microcarpa 'Green Island', Green Island Ficus (12" HT, 2.54 FULL) EΑ 418 \$14.30 \$5,977.40 \$55.64 \$23,257.52 Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD) EΑ 2.55 28 \$9.90 \$277.20 \$51.64 \$1,445.92 2.56 Furnish and Install Paspalum notatum 'Argentine', Bahia Grass (SOD) SF 2872 \$0.286 \$821.392 \$1.28 \$3,676.16 Tree Removal EΑ \$880.00 \$4,400.00 \$8,500.00 \$42,500.00 2.57 2.58 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10 EΑ 143 \$21.45 \$3,067.35 \$55.00 \$7,865.00 Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser 2.59 EΑ \$11.00 \$66.00 \$45.00 \$270.00 Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2" EΑ \$440.00 \$1,320.00 \$375.00 2.60 \$1,125.00 2.61 Furnish and Install Lateral Line: PVC Schedule 40 LF 2280 \$3.575 \$8,151.00 \$3.50 \$7,980.00 Furnish and Install Mainline: PVC Schedule 40 LF 380 \$2,194,50 \$6.50 \$2,470,00 2.62 \$5.775 Furnish and Install Pipe Sleeve: PVC Schedule 80 \$8,453.50 LF 1060 \$7.975 \$10.00 \$10,600.00

L-09-17 Step 2			

1901 W Cypress Creek Road 1400 Alabama Avenue Ft. Lauderdale, FL 33309 West Palm beach, FL 33401 **UOM QTY Extended** Line **Description** Unit Unit Extended Phase 3 Subtotal (Pending funding) \$803.251.50 \$849,407,14 3.1 Mobilization LS \$20.096.00 \$20.096.00 \$49,331.20 \$49.331.20 3.2 Maintenance of Traffic LS \$4,352.00 \$4,352.00 \$52,000.00 \$52,000.00 3.3 Bonds and Insurance LS \$6,656.00 \$6,656.00 \$10.00 \$10.00 Permit Fees 3.4 AL \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 3.5 Construction Contingency ΑL \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 Consideration for Indemnification LS \$10.00 \$10.00 \$10.00 3.6 \$10.00 EΑ Remove and Dispose of Existing Drainage Structure \$480.00 \$3,360.00 \$480.00 \$3,360.00 Remove and Dispose of Existing Drainage Pipe LF 140 \$15.04 \$2,105,60 \$2,105,60 \$15.04 3.9 Furnish and Install Type C Drainage Structure with Curb Inlet EΑ \$3,264.00 \$3,264.00 \$3,264.00 \$3,264.00 3.10 Furnish and Install Type C Drainage Structure with Catch Basin Inlet EΑ \$3,264.00 \$6,528.00 \$3,264.00 \$6,528.00 Furnish and Install 48" Round Drainage Structure with Curb Inlet \$7,744.00 3.11 EΑ \$3,872.00 \$7,744.00 \$3,872.00 3.12 Furnish and Install 48" Round Drainage Structure with Manhole Cover EΑ \$3,616.00 \$10.848.00 \$3,616.00 \$10.848.00 Furnish and Install 48" Round Drainage Structure with Catch Basin Inlet EΑ \$3,968.00 \$7,936.00 \$7,936.00 3.13 \$3,968.00 3.14 Furnish and Install 10" CMP Drainage Pipe LF 20 \$60.16 \$1,203.20 \$60.16 \$1,203.20 Furnish and Install 15" RCP Drainage Pipe LF 310 3.15 \$60.16 \$18.649.60 \$60.16 \$18.649.60 Furnish and Install 15" HDPE Drainage Pipe LF 20 \$61.44 \$1,228.80 \$1,228.80 3.16 \$61.44 Furnish and Install 24" RCP Drainage Pipe 3.17 LF 10 \$94.72 \$947.20 \$94.72 \$947.20 Connect to Existing Drainage Pipe EΑ \$640.00 3.18 \$3,200,00 \$640.00 \$3.200.00 \$5,632.00 3.19 Furnish and Install 6" DIP Watermain Pipe 100 \$56.32 \$5,632.00 \$56.32 Furnish and Install 8" DIP Watermain Pipe LF 720 \$43,315.20 \$43,315.20 3.20 \$60.16 \$60.16 Furnish and Install Pressure Main Fittings **TONS** 0.9 \$11,392.00 \$10,252.80 \$11,392.00 \$10,252.80 Furnish and Install New Fire Hydrant Assembly \$12,288.00 \$12,288.00 3.22 EΑ \$6,144.00 \$6,144.00 3.23 Remove and Salvage Existing Fire Hydrant Assembly EΑ \$736.00 \$1,472.00 \$736.00 \$1,472.00 \$6,816.00 \$6,816.00 Connect to Existing Water Main EΑ \$2,272.00 \$2,272.00 3.24 3.25 Furnish and Install 6" Gate Valves EΑ \$1,472.00 \$2.944.00 \$1,472.00 \$2,944.00 3.26 Furnish and Install 8" Gate Valves EΑ \$2.016.00 \$10.080.00 \$2.016.00 \$10,080.00 3.27 Abandon and Grout Existing Water Main LF 780 \$10.24 \$7,987.20 \$10.24 \$7,987.20 EΑ Furnish and Install 1" Water Service, Connection to Existing Meter \$1,472.00 \$10,304.00 \$1,472.00 \$10,304.00 3.28 3.29 Furnish and Install Sample Points EΑ \$928.00 \$2,784.00 \$928.00 \$2,784.00 5 \$23.040.00 3.30 Reline Existing Sewer Lateral EΑ \$4.608.00 \$23,040.00 \$4,608.00 Replace Existing Sewer Lateral EΑ \$2,848.00 \$19,936.00 \$19,936.00 \$2,848.00

The Whiting-Turner Contracting Co.

L-09-17	Step	2
---------	------	---

3.30

Reline Existing Sewer Lateral

Replace Existing Sewer Lateral

West Construction, Inc. State Contracting & Engineering Corp. 820 N 4th Street 3800 N 29th Avenue Lantana, FL 33462 Hollywood, FL 33020 **UOM QTY** Line **Description** Unit Extended Unit Extended Phase 3 Subtotal (Pending funding) \$852,298,952 \$1,275,690,94 \$120,000,00 3.1 Mobilization LS \$82,500,00 \$82.500.00 \$120,000,00 3.2 Maintenance of Traffic LS \$55,000.00 \$55,000.00 \$286,008.00 \$286,008.00 3.3 Bonds and Insurance LS \$22,000.00 \$22,000.00 \$30,700.00 \$30,700.00 3.4 Permit Fees AL \$2,500.00 \$2,500.00 \$1,500.00 \$1,500.00 3.5 Construction Contingency ΑL \$100,000.00 \$100,000.00 \$100,000.00 \$100,000.00 Consideration for Indemnification LS \$10.00 \$10.00 \$10.00 \$10.00 3.6 EΑ Remove and Dispose of Existing Drainage Structure \$550.00 \$3,850.00 \$1,007.00 \$7,049.00 LF 140 \$1.540.00 \$24.27 \$3,397,80 Remove and Dispose of Existing Drainage Pipe \$11.00 Furnish and Install Type C Drainage Structure with Curb Inlet EΑ \$4,152.50 \$4,152.50 \$4,039.73 3.9 \$4,039.73 \$3,928.02 3.10 Furnish and Install Type C Drainage Structure with Catch Basin Inlet EΑ \$3,960.00 \$7,920.00 \$7,856.04 \$5,380.05 3.11 Furnish and Install 48" Round Drainage Structure with Curb Inlet EΑ \$4,152.50 \$8,305.00 \$10,760.10 3.12 Furnish and Install 48" Round Drainage Structure with Manhole Cover EΑ \$4,070.00 \$12,210.00 \$4,460.36 \$13,381.08 Furnish and Install 48" Round Drainage Structure with Catch Basin Inlet EΑ \$3,850.00 \$7,700.00 \$4,954.96 \$9,909.92 3.13 3.14 Furnish and Install 10" CMP Drainage Pipe LF 20 \$55.00 \$1,100.00 \$157.39 \$3,147.80 Furnish and Install 15" RCP Drainage Pipe LF \$33.879.90 3.15 310 \$49.50 \$15.345.00 \$109.29 Furnish and Install 15" HDPE Drainage Pipe LF 20 \$49.50 \$990.00 \$144.14 \$2,882.80 3.16 Furnish and Install 24" RCP Drainage Pipe 3.17 LF 10 \$110.00 \$1,100.00 \$299.54 \$2,995.40 Connect to Existing Drainage Pipe EΑ \$1.083.50 3.18 \$5.417.50 \$6.691.00 \$33,455.00 \$55.00 3.19 Furnish and Install 6" DIP Watermain Pipe LF 100 \$5,500.00 \$90.32 \$9,032.00 Furnish and Install 8" DIP Watermain Pipe LF 720 \$51,480.00 \$76.39 3.20 \$71.50 \$55,000.80 **TONS** 0.9 \$11,000.00 \$9,900.00 \$12,663.30 \$11,396.97 Furnish and Install Pressure Main Fittings Furnish and Install New Fire Hydrant Assembly EΑ \$4,950.00 \$9,900.00 \$7,713.00 3.22 \$15,426.00 3.23 Remove and Salvage Existing Fire Hydrant Assembly EΑ \$2,750.00 \$5,500.00 \$1,301.17 \$2,602.34 Connect to Existing Water Main EΑ \$3,025.00 \$9,075.00 \$3,816.00 \$11,448.00 3.24 3.25 Furnish and Install 6" Gate Valves EΑ \$2,420,00 \$1,210,00 \$1,463,00 \$2,926.00 3.26 Furnish and Install 8" Gate Valves EΑ \$1,485.00 \$7,425.00 \$1,764.72 \$8,823.60 3.27 Abandon and Grout Existing Water Main LF 780 \$10.835 \$8,451.30 \$10.23 \$7,979.40 EΑ Furnish and Install 1" Water Service, Connection to Existing Meter \$1,072.50 \$7,507.50 \$3,060.96 3.28 \$21,426.72 3.29 Furnish and Install Sample Points EΑ \$522.50 \$1,567.50 \$1,598.95 \$4,796.85

5

\$1,650.00

\$1,870.00

EΑ

EΑ

\$8,250.00

\$13,090.00

\$3,325.00

\$6,798.46

\$16,625.00

\$47,589.22

	L-09-17 Step 2			The Whiting-Turne		Burkhardt Cons	•
				1901 W Cypress (	Creek Road	1400 Alabama	\venue
				Ft. Lauderdale, FL	. 33309	West Palm bea	ch, FL 33401
Line	Description	UOM	QTY	Unit	Extended	Unit	Extended
3.32	FPL Power Service, New Service Connection, and Coordination	EA	1	\$3,840.00	\$3,840.00	\$3,200.00	\$3,200.00
	Furnish and Install Meter, Lighting Control Panel with Lighting Contactor,						
3.33	Panelboard, Timer/Photocell	EA	1	\$33,009.92	\$33,009.92	\$33,009.92	\$33,009.92
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,						
3.34	base, GFI WP, hand hole, fuses (Complete)	EA	10	. ,			
3.35	Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching)	LF	500	\$9.24	\$4,620.00	\$9.24	\$4,620.00
3.36	"Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	800	\$21.29	\$17,032.00	\$21.29	\$17,032.00
3.37	Furnish and Install Conduit and Wire (3#1 in 1 1/2" conduit, cutting and patching)	LF	450	\$21.57	\$9,706.50	\$21.57	\$9,706.50
3.38	Furnish and Install Pull boxes with traffic rated cover	EA	8	\$3,048.96			
3.39	Miscellaenous Electrical	LS	1	\$7,040.00			
3.40	Remove and Dispose of Existing Asphalt Pavement	SY	2200	\$5.00	\$11,000.00	\$4.99	\$10,978.00
3.41	Remove and Dispose of Existing Concrete	SY	120	\$14.40	\$1,728.00	\$14.40	\$1,728.00
3.42	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	2500	\$10.88	\$27,200.00	\$10.88	\$27,200.00
3.43	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	2500	\$7.23	\$18,075.00	\$7.23	\$18,075.00
3.44	Furnish and Place Limerock Base (8" Thickness)	SY	2500	\$14.72	\$36,800.00	\$14.72	\$36,800.00
3.45	Stabilization of Subgrade (12" Thickness)	SY	2500	\$8.32	\$20,800.00	\$8.32	\$20,800.00
3.46	Furnish and Install Type D Curb	LF	1230	\$18.94	\$23,296.20	\$18.94	\$23,296.20
3.47	Remove Existing Guardrail	LF	30	\$39.68	\$1,190.40	\$6.40	\$192.00
3.48	Furnish and Install Guardrail	LF	20	\$128.00	\$2,560.00	\$160.00	\$3,200.00
3.49	Remove and Reinstall Existing Sign	EA	11	\$211.20	\$2,323.20	\$211.20	\$2,323.20
3.50	Furnish and Place Temporary Striping	LF	2200	\$0.38	\$836.00	\$0.38	\$836.00
3.51	Furnish and Place 4" Thermoplastic (solid white/blue)	LF	200	\$2.11	\$422.00	\$2.11	\$422.00
3.52	Furnish and Place 6" Thermoplastic (solid white/yellow)	LF	910	\$1.41	\$1,283.10	\$1.41	\$1,283.10
3.53	Furnish and Place 6" Thermoplastic (double yellow)	LF	780	\$2.56	\$1,996.80	\$2.56	\$1,996.80
3.54	Furnish and Place 6" Thermoplastic 10'-30' skip	LF	160				
3.55	Furnish and Place 12" Thermoplastic (crosswalk)	LF	160		· ·		
3.56	Furnish and Place 24" Thermoplastic (stop bar)	LF	30		\$161.40	\$5.38	\$161.40
3.57	Furnish and Place Reflective Pavement Markers	EA	23	\$4.86	\$111.78	\$4.86	\$111.78
					<b>.</b>	A	<u> </u>

EΑ

SF

4100

\$608.00

\$7.55

\$4,256.00

\$30,955.00

\$608.00

\$7.55

\$4,256.00

\$30,955.00

3.58

3.59

Furnish and Place ADA Detectable Warning

Furnish and Install Concrete Sidewalk

L-09-17 Step 2			West Construction, Inc. State Contracting & Engineering			& Engineering Corp.	
8			820 N 4th Stree	et	3800 N 29th Avenue		
Ī				Lantana, FL 33462		Hollywood, FL 33020	
	Description	UOM	QTY	Unit	Extended	Unit	Extended
	FPL Power Service, New Service Connection, and Coordination	EA	1	\$4,950.00	\$4,950.00	\$6,500.00	\$6,500.00
		1	1			- '	

				Lantana, FL 33	462	Hollywood, FL 330	20
Line	Description	UOM	QTY		Extended	Unit	Extended
3.32	FPL Power Service, New Service Connection, and Coordination	EA	1	\$4,950.00	\$4,950.00	\$6,500.00	\$6,500.00
	Furnish and Install Meter, Lighting Control Panel with Lighting Contactor,						
3.33	Panelboard, Timer/Photocell	EA	1	\$18,700.00	\$18,700.00	\$19,730.19	\$19,730.19
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,						
3.34	base, GFI WP, hand hole, fuses (Complete)	EA	10				
3.35	Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching)	LF	500	\$9.90	\$4,950.00	\$11.85	\$5,925.00
3.36	"Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	800	\$8.25	\$6,600.00	\$13.25	\$10,600.00
3.37	Furnish and Install Conduit and Wire (3#1 in 1 1/2" conduit, cutting and patching)	LF	450	\$8.305	\$3,737.25	\$16.91	\$7,609.50
3.38	Furnish and Install Pull boxes with traffic rated cover	EA	8	\$732.60	\$5,860.80	\$1,266.43	\$10,131.44
3.39	Miscellaenous Electrical	LS	1	\$5,500.00	\$5,500.00	\$6,500.00	\$6,500.00
3.40	Remove and Dispose of Existing Asphalt Pavement	SY	2200	\$4.95	\$10,890.00	\$7.77	\$17,094.00
3.41	Remove and Dispose of Existing Concrete	SY	120	\$14.85	\$1,782.00	\$31.66	\$3,799.20
3.42	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	2500	\$8.69	\$21,725.00	\$8.99	\$22,475.00
3.43	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	2500	\$6.325	\$15,812.50	\$6.34	\$15,850.00
3.44	Furnish and Place Limerock Base (8" Thickness)	SY	2500	\$16.50	\$41,250.00	\$11.76	\$29,400.00
3.45	Stabilization of Subgrade (12" Thickness)	SY	2500	\$8.80	\$22,000.00	\$9.84	\$24,600.00
3.46	Furnish and Install Type D Curb	LF	1230	\$22.00	\$27,060.00	\$12.65	\$15,559.50
3.47	Remove Existing Guardrail	LF	30		\$1,320.00		\$1,398.60
3.48	Furnish and Install Guardrail	LF	20	\$44.00	\$880.00	\$100.00	\$2,000.00
3.49	Remove and Reinstall Existing Sign	EA	11	\$220.00	\$2,420.00	\$203.50	\$2,238.50
3.50	Furnish and Place Temporary Striping	LF	2200	·	\$605.00		\$3,014.00
3.51	Furnish and Place 4" Thermoplastic (solid white/blue)	LF	200	\$0.55	\$110.00		\$188.00
3.52	Furnish and Place 6" Thermoplastic (solid white/yellow)	LF	910		\$700.70		
3.53	Furnish and Place 6" Thermoplastic (double yellow)	LF	780	\$1.54	\$1,201.20	\$2.20	\$1,716.00
3.54	Furnish and Place 6" Thermoplastic 10'-30' skip	LF	160	\$0.825	\$132.00		
3.55	Furnish and Place 12" Thermoplastic (crosswalk)	LF	160	\$2.585	\$413.60	\$2.48	\$396.80
3.56	Furnish and Place 24" Thermoplastic (stop bar)	LF	30		\$132.00		\$156.90
3.57	Furnish and Place Reflective Pavement Markers	EA	23		\$101.20		
3.58	Furnish and Place ADA Detectable Warning	EA	7	\$550.00			
3.59	Furnish and Install Concrete Sidewalk	SF	4100	\$5.50	\$22,550.00	\$5.70	\$23,370.00

1901 W Cypress Creek Road 1400 Alabama Avenue Ft. Lauderdale, FL 33309 West Palm beach, FL 33401 UOM QTY Line **Description** Unit **Extended** Unit Extended 3.60 Furnish and Install Concrete Sidewalk with Integral Color 650 \$12.48 \$8,112,00 \$12.48 \$8.112.00 Furnish and Install Cocoloba diversifolia, Pigeon Plum (B&B, 12' HT, 6' SPRD, 3" 3.61 EΑ \$1,472.00 \$5,888.00 \$499.20 \$1,996.80 3.62 Furnish and Install Lagerstroemia x 'Natchez' (B&B, 10' HT, 42" SPRD, 2" CAL) EΑ 11 \$1,088.00 \$11,968.00 \$371.20 \$4,083.20 3.63 Furnish and Install Sabal Palmetto, Cabbage Palm (B&B, 12? CT, Full) EΑ \$1,024.00 \$8,192.00 \$473.60 \$3,788.80 3.64 Furnish and Install Veitchia montgomeryana, Montgomery Palm (B&B, 10' CT) EΑ \$1,216.00 \$1,216.00 \$448.00 \$448.00 Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL) EΑ 58 \$23.04 \$1.336.32 \$519.68 3.65 \$8.96 EΑ 3.66 Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD) 384 \$13.44 \$5,160.96 \$2,211.84 \$5.76 Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD) 4232 \$1,989.04 3.67SF \$1.15 \$4,866.80 \$0.47 3.68 EΑ 20 \$326.40 \$6,528.00 Tree Removal \$140.80 \$2,816.00 3.69 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F LCS Radius 4'x15' EΑ 13 \$28.11 \$365.43 \$44.80 \$582.40 3.70 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, RCS Radius 4'x15' EA 13 \$28.11 \$365.43 \$44.80 \$582.40 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, SST Radius 4'x30' 29 \$1,299,20 3.71 \$28.11 \$815.19 \$44.80 3.72 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10 EΑ 9 \$28.11 \$252.99 \$44.80 \$403.20 EΑ 19 \$28.11 \$534.09 3.73 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15 \$44.80 \$851.20 EΑ \$12.10 \$12.10 \$1,280.00 Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser \$1,280.00 Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2" EΑ \$940.80 \$2,822.40 \$3,456.00 3.75 \$1,152.00 3.76 Furnish and Install Isolation Valve: Nibco T-113 1-1/2" EΑ \$587.31 \$1,174.62 \$768.00 \$1,536.00 Furnish and Install Pressure Vaccum Breaker: Zurn 720A 1-1/2" EΑ \$1,179.65 \$1,179.65 \$1,280.00 \$1,280.00 3.78 Furnish and Install Water Meter 1" EΑ \$2,176,00 \$2.176.00 \$1.920.00 \$1,920.00 3.79 Furnish and Install Solar Controller: DIG LEIT XRC EΑ \$2.617.08 \$2,617.08 \$4.992.00 \$4.992.00 3.80 Furnish and Install Wired Rain Sensor: Rain Bird RSD-CEx EΑ \$64.46 \$64.46 \$435.20 \$435.20 Furnish and Install Lateral Line: PVC Schedule 40 LF 1300 \$2.53 \$3,289.00 \$4,160.00 3.81 \$3.20 Furnish and Install Mainline: PVC Schedule 40 3.82 820 \$2.53 \$2,074.60 \$3.20 \$2,624.00 Furnish and Install Pipe Sleeve: PVC Schedule 80 300 \$17.79 \$5,337.00 \$6.40 \$1,920.00

The Whiting-Turner Contracting Co.

Furnish and Install Pipe Sleeve: PVC Schedule 80

3.83

West Construction, Inc. State Contracting & Engineering Corp. 820 N 4th Street 3800 N 29th Avenue Lantana, FL 33462 Hollywood, FL 33020 **UOM QTY** Line **Description** Unit **Extended** Unit Extended 3.60 Furnish and Install Concrete Sidewalk with Integral Color 650 \$8.80 \$5.720.00 \$9.91 \$6,441,50 Furnish and Install Cocoloba diversifolia, Pigeon Plum (B&B, 12' HT, 6' SPRD, 3" DBH) EΑ \$803.00 \$3,212.00 \$600.00 3.61 \$2,400.00 3.62 Furnish and Install Lagerstroemia x 'Natchez' (B&B, 10' HT, 42" SPRD, 2" CAL) EΑ 11 \$445.50 \$4,900.50 \$500.00 \$5,500.00 3.63 Furnish and Install Sabal Palmetto, Cabbage Palm (B&B, 12? CT, Full) EΑ \$550.00 \$4,400.00 \$300.00 \$2,400.00 3.64 Furnish and Install Veitchia montgomeryana, Montgomery Palm (B&B, 10' CT) EΑ \$15.40 \$500.00 \$500.00 \$15.40 Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL) EΑ 58 \$15.40 \$893.20 \$55.64 \$3,227,12 3.65 EΑ \$3,801.60 3.66 Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD) 384 \$9.90 \$51.64 \$19,829.76 Furnish and Install Paspalum notatum 'Argentine', Bahia Grass (SOD) SF 4232 \$1,210.352 3.67\$0.286 \$1.28 \$5,416.96 3.68 EΑ 20 \$17,600.00 \$300.00 \$6,000.00 Tree Removal \$880.00 3.69 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F LCS Radius 4'x15' EΑ 13 \$21.45 \$278.85 \$55.00 \$715.00 3.70 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, RCS Radius 4'x15' EA 13 \$21.45 \$278.85 \$55.00 \$715.00 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F, SST Radius 4'x30' EΑ 29 \$622.05 \$1,595.00 3.71 \$21.45 \$55.00 3.72 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10 EΑ 9 \$21.45 \$193.05 \$55.00 \$495.00 EΑ 19 3.73 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15 \$21.45 \$407.55 \$55.00 \$1,045.00 EΑ \$11.00 \$45.00 \$45.00 Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser \$11.00 Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2" EΑ \$440.00 \$1,320.00 \$1,125.00 3.75 \$375.00 3.76 Furnish and Install Isolation Valve: Nibco T-113 1-1/2" EΑ \$330.00 \$660.00 \$250.00 \$500.00 Furnish and Install Pressure Vaccum Breaker: Zurn 720A 1-1/2" EΑ \$935.00 \$935.00 \$3,500.00 \$3,500.00 3.78 Furnish and Install Water Meter 1" EΑ \$3,300,00 \$1,000,00 \$3.300.00 \$1,000.00 \$1,650.00 3.79 Furnish and Install Solar Controller: DIG LEIT XRC EΑ \$1,650.00 \$3,000,00 \$3,000.00 3.80 Furnish and Install Wired Rain Sensor: Rain Bird RSD-CEx EΑ \$137.50 \$137.50 \$250.00 \$250.00 Furnish and Install Lateral Line: PVC Schedule 40 LF \$4,647.50 \$4,550.00 3.81 1300 \$3.575 \$3.50 3.82 Furnish and Install Mainline: PVC Schedule 40 820 \$5.775 \$4,735.50 \$6.50 \$5,330.00

LF

300

\$7.975

\$2,392.50

\$10.00

\$3,000.00

	L-09-17 Step 2			The Whiting-Turne	er Contracting Co.	Burkhardt Construction, Inc.	
	19			1901 W Cypress C	Creek Road	1400 Alabama Avenue	
				Ft. Lauderdale, FL	. 33309	West Palm beach, FL 33401	
Line	Description	UOM	QTY	Unit	Extended	Unit	Extended
4	Phase 4 Subtotal		1		\$911,282.93		\$950,029.49
4.1	Mobilization	EA	1	\$24,960.00	\$24,960.00		
4.2	Maintenance of Traffic	LS	1	\$4,544.00	. ,		
4.3	Bonds and Insurance	LS	1	\$6,912.00	\$6,912.00		
4.4	Permit Fees	AL	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
4.5	Construction Contingency	AL	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
4.6	Consideration for Indemnification	LS	1	\$10.00	•		
4.7	Remove and Dispose of Existing Drainage Structure	EA	2	\$480.00	\$960.00	\$480.00	\$960.00
4.8	Remove and Dispose of Existing Drainage Pipe	LF	90	\$14.08	\$1,267.20		
4.9	Furnish and Install Type C Drainage Structure with Curb Inlet	EA	4	\$3,264.00	\$13,056.00	\$3,264.00	\$13,056.00
4.10	Furnish and Install 48" Round Drainage Structure with Curb Inlet	EA	3	\$3,872.00	\$11,616.00	\$3,872.00	\$11,616.00
4.11	Furnish and Install 48" Round Drainage Structure with Manhole Cover	EA	1	\$3,616.00	\$3,616.00	\$3,616.00	\$3,616.00
4.12	Furnish and Install 15" RCP Drainage Pipe	LF	70	\$60.16	\$4,211.20	\$60.16	\$4,211.20
4.13	Furnish and Install 18" RCP Drainage Pipe	LF	140	\$66.56	\$9,318.40	\$66.56	\$9,318.40
4.14	Furnish and Install 18" RCP Exfiltration Trench	LF	410	\$140.80	\$57,728.00	\$140.80	\$57,728.00
4.15	Furnish and Install Pollution Retardant Baffle	EA	4	\$832.00	\$3,328.00	\$832.00	\$3,328.00
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,						
4.16	base, GFI WP, hand hole, fuses (Complete)	EA	25	\$8,417.28	\$210,432.00	\$8,417.28	\$210,432.00
4.17	Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching)	LF	400	\$9.24	\$3,696.00	\$9.24	\$3,696.00
4.18	Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	1200	\$20.65	\$24,780.00		
4.19	Furnish and Install Pull boxes with traffic rated cover	EA	8	\$2,594.56	\$20,756.48	\$2,594.56	\$20,756.48
4.20	Miscellaenous Electrical	LS	1	\$7,040.00	\$7,040.00	\$7,040.00	\$7,040.00
4.21	Remove and Dispose of Existing Asphalt Pavement	SY	3300	\$4.16	\$13,728.00	\$4.16	\$13,728.00
4.22	Remove and Dispose of Existing Concrete	SY	150	\$8.32	\$1,248.00	\$8.32	\$1,248.00
4.23	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	3650	\$10.88			\$39,712.00
4.24	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	3650	\$7.23	\$26,389.50	\$7.23	\$26,389.50
					*		

SY

SY

LF

3650

3650

1850

\$14.72

\$8.32

\$18.95

\$53,728.00

\$30,368.00

\$35,057.50

\$14.72

\$8.32

\$18.94

\$53,728.00

\$30,368.00

\$35,039.00

Furnish and Place Limerock Base (8" Thickness)

Stabilization of Subgrade (12" Thickness)

Furnish and Install Type D Curb

4.26

L-09-17 Step 2	
----------------	--

West Construction, Inc. 820 N 4th Street Lantana, FL 33462 State Contracting & Engineering Corp.
3800 N 29th Avenue
Hollywood, FL 33020

Line	Description	UOM	QTY	Unit	Extended	Unit	Extended
4	Phase 4 Subtotal		1		\$925,089.086		\$1,224,256.74
4.1	Mobilization	EA	1	\$82,500.00	\$82,500.00	\$120,000.00	\$120,000.00
4.2	Maintenance of Traffic	LS	1	\$38,500.00	\$38,500.00	\$233,090.00	\$233,090.00
4.3	Bonds and Insurance	LS	1	\$22,000.00	\$22,000.00	. ,	. ,
4.4	Permit Fees	AL	1	\$2,500.00			
4.5	Construction Contingency	AL	1	\$100,000.00	·		·
4.6	Consideration for Indemnification	LS	1	\$11.00			
4.7	Remove and Dispose of Existing Drainage Structure	EA	2	\$550.00	\$1,100.00	\$1,007.00	\$2,014.00
4.8	Remove and Dispose of Existing Drainage Pipe	LF	90	\$11.00			\$2,184.30
4.9	Furnish and Install Type C Drainage Structure with Curb Inlet	EA	4	\$3,850.00	\$15,400.00	\$4,039.73	\$16,158.92
4.10	Furnish and Install 48" Round Drainage Structure with Curb Inlet	EA	3	. ,		\$5,380.05	\$16,140.15
4.11	Furnish and Install 48" Round Drainage Structure with Manhole Cover	EA	1	\$3,960.00	\$3,960.00	\$4,460.36	\$4,460.36
4.12	Furnish and Install 15" RCP Drainage Pipe	LF	70	\$55.00			. ,
4.13	Furnish and Install 18" RCP Drainage Pipe	LF	140	\$60.50			
4.14	Furnish and Install 18" RCP Exfiltration Trench	LF	410	\$121.00			
4.15	Furnish and Install Pollution Retardant Baffle	EA	4	\$522.50	\$2,090.00	\$935.04	\$3,740.16
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,						
4.16	base, GFI WP, hand hole, fuses (Complete)	EA	25	\$8,093.80		. ,	
4.17	Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching)	LF	400	\$19.25	. ,		\$4,788.00
4.18	Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	1200	\$10.076			
4.19	Furnish and Install Pull boxes with traffic rated cover	EA	8	\$1,100.00	\$8,800.00	\$1,266.43	\$10,131.44
4.20	Miscellaenous Electrical	LS	1	\$5,500.00	. ,	. ,	. ,
4.21	Remove and Dispose of Existing Asphalt Pavement	SY	3300	\$4.95			\$31,251.00
4.22	Remove and Dispose of Existing Concrete	SY	150	\$14.85			
4.23	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	3650				
4.24	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	3650	\$6.325			
4.25	Furnish and Place Limerock Base (8" Thickness)	SY	3650	\$16.50			
4.26	Stabilization of Subgrade (12" Thickness)	SY	3650	\$8.80	·		
4.27	Furnish and Install Type D Curb	LF	1850	\$22.00	\$40,700.00	\$12.65	\$23,402.50

L-09-17	Step	2
---------	------	---

1901 W Cypress Creek Road 1400 Alabama Avenue Ft. Lauderdale, FL 33309 West Palm beach, FL 33401 **UOM QTY** Line **Description** Unit **Extended** Unit Extended 4.28 Remove and Reinstall Existing Sign EΑ \$211.20 \$1,900.80 \$211.20 \$1.900.80 LF 4.29 Furnish and Place Temporary Striping 3000 \$0.38 \$1,140.00 \$1.140.00 \$0.38 4.30 Furnish and Place 4" Thermoplastic (solid white/blue) LF 220 \$2.11 \$464.20 \$2.11 \$464.20 Furnish and Place 6" Thermoplastic (solid white/yellow) LF 1750 \$1.41 \$2,467.50 \$1.41 \$2,467.50 4.31 4.32 Furnish and Place 6" Thermoplastic (double yellow) LF 920 \$2.56 \$2,355.20 \$2.56 \$2,355.20 4.33 Furnish and Place 12" Thermoplastic (crosswalk) LF 100 \$2.56 \$256.00 \$2.56 \$256.00 Furnish and Place 24" Thermoplastic (stop bar) LF 100 \$5.38 \$538.00 \$5.38 \$538.00 4.34 \$224.00 4.35 Furnish and Place Pavement Message & Symbols EΑ \$224.00 \$224.00 \$224.00 Furnish and Place Reflective Pavement Markers 32 \$155.52 \$155.52 EΑ \$4.86 \$4.86 Furnish and Place ADA Detectable Warning EΑ 20 \$12,160.00 \$608.00 \$12,160.00 4.37 \$608.00 Furnish and Install Concrete Sidewalk 4.38 13600 \$7.55 \$102,680.00 \$7.55 \$102,680.00 4.39 Furnish and Install Bulnesia arborea, Verawood (B&B, 10' HT, 42" SPRd, 2" CAL) EA \$2,304.00 \$371.20 \$742.40 \$1,152.00 Furnish and Install Conocarpus erectus, Buttonwood (B&B, 12' HT, 6' SPRD, 3" 4.40 EΑ \$1,408.00 \$2,816.00 \$14,080.00 \$28,160.00 Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6' 4.41 SPRD, 3"CAL) EΑ \$2,880.00 \$8,640.00 \$1,024.00 \$3,072.00 4.42 Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL) EΑ 357 \$23.04 \$8,225.28 \$8.96 \$3,198.72 Furnish and Install Figure microcarpa 'Green Island', Green Island Figure (12" HT. 4.43 EΑ 315 \$23.04 \$7,257.60 \$10.24 \$3,225.60 Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD) SF 5751 \$1.52 \$2,702.97 4.44 \$8,741.52 \$0.47 EΑ \$944.64 \$7,557.12 \$352.00 \$2,816.00 4.45 Tree Removal 4.46 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10 EΑ 121 \$28.11 \$5,420.80 \$3,401.31 \$44.80 4.47 Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser EΑ \$12.10 \$72.60 \$128.00 \$768.00 6 Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2" EΑ \$940.80 \$1,881.60 \$768.00 \$1,536.00 4.49 Furnish and Install Lateral Line: PVC Schedule 40 LF 1800 \$4,572.00 \$2.54 \$3.20 \$5,760.00 Furnish and Install Mainline: PVC Schedule 40 4.50 LF 760 \$2.54 \$1,930.40 \$3.20 \$2,432.00 Furnish and Install Pipe Sleeve: PVC Schedule 80 1100 \$17.80 \$19,580.00 \$6.40 \$7,040.00

The Whiting-Turner Contracting Co.

Furnish and Install Pipe Sleeve: PVC Schedule 80

820 N 4th Street 3800 N 29th Avenue Lantana, FL 33462 Hollywood, FL 33020 **UOM QTY** Line **Description** Unit **Extended** Unit Extended 4.28 Remove and Reinstall Existing Sign EΑ \$220.00 \$1.980.00 \$203.50 \$1.831.50 LF 4.29 Furnish and Place Temporary Striping 3000 \$0.275 \$825.00 \$1.38 \$4,140,00 4.30 Furnish and Place 4" Thermoplastic (solid white/blue) LF 220 \$0.55 \$121.00 \$0.94 \$206.80 Furnish and Place 6" Thermoplastic (solid white/yellow) LF 1750 \$0.77 \$1,347.50 \$1.10 \$1,925.00 4.31 4.32 Furnish and Place 6" Thermoplastic (double yellow) LF 920 \$1.54 \$1,416.80 \$2.20 \$2.024.00 4.33 Furnish and Place 12" Thermoplastic (crosswalk) LF 100 \$2.585 \$258.50 \$2.47 \$247.00 Furnish and Place 24" Thermoplastic (stop bar) LF 100 \$4.40 \$440.00 \$5.25 \$525.00 4.34 4.35 Furnish and Place Pavement Message & Symbols EΑ \$165.00 \$165.00 \$385.00 \$385.00 Furnish and Place Reflective Pavement Markers 32 \$140.80 \$176.00 EΑ \$4.40 \$5.50 Furnish and Place ADA Detectable Warning EΑ \$550.00 \$11,000.00 \$495.00 \$9,900.00 4.37 20 Furnish and Install Concrete Sidewalk 4.38 13600 \$5.50 \$74,800.00 \$6.00 \$81,600.00 4.39 Furnish and Install Bulnesia arborea, Verawood (B&B, 10' HT, 42" SPRd. 2" CAL) EA \$500.50 \$1,001.00 \$450.00 \$900.00 Furnish and Install Conocarpus erectus, Buttonwood (B&B, 12' HT, 6' SPRD, 3" 4.40 EΑ \$528.00 \$1,056.00 \$400.00 \$800.00 Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6' 4.41 SPRD, 3"CAL) EΑ \$693.00 \$2,079.00 \$900.00 \$2,700.00 4.42 Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL) EΑ 357 \$15.40 \$5,497.80 \$55.64 \$19,863.48 Furnish and Install Ficus microcarpa 'Green Island', Green Island Ficus (12" HT. 4.43 EΑ 315 \$15.40 \$4,851.00 \$55.64 \$17,526.60 Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD) SF 5751 \$1,644.786 \$7,361.28 4.44 \$0.286 \$1.28 EΑ \$880.00 \$7,040.00 \$750.00 \$6,000.00 4.45 Tree Removal 4.46 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10 EΑ \$21.45 \$2,595.45 \$55.00 \$6,655.00 121 4.47 Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser EΑ \$11.00 \$66.00 \$45.00 \$270.00 6 \$750.00 Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2" EΑ \$440.00 \$880.00 \$375.00 4.49 Furnish and Install Lateral Line: PVC Schedule 40 LF \$3.575 \$6,435,00 \$6,300,00 1800 \$3.50 Furnish and Install Mainline: PVC Schedule 40 4.50 LF 760 \$5.775 \$4,389.00 \$6.50 \$4,940.00

1100

\$7.975

\$8,772.50

\$10.00

\$11,000.00

West Construction, Inc.

State Contracting & Engineering Corp.

	L-09-17 Step 2	The Whiting-Turne	er Contracting Co.	Burkhardt Construction, Inc.				
		1901 W Cypress C	Creek Road	1400 Alabama Avenue				
	Ft. La			Ft. Lauderdale, FL	Ft. Lauderdale, FL 33309		West Palm beach, FL 33401	
Line	Description	UOM	QTY	Unit	Extended	Unit	Extended	
5	Phase 5 Subtotal		1		\$378,629.29		\$368,922.81	
5.1	Mobilization	LS	1	\$8,576.00	\$8,576.00	\$31,564.80	\$31,564.80	
5.2	Maintenance of Traffic	LS	1	\$5,888.00		\$21,000.00		
5.3	Bonds and Insurance	LS	1	\$2,560.00	. ,			
5.4	Permit Fees	AL	1	\$1,000.00				
5.5	Construction Contingency	AL	1	\$20,000.00				
5.6	Consideration for Indemnification	LS	1	\$10.00	•	\$10.00		
5.7	Furnish and Install Type C Drainage Structure with Curb Inlet	EA	1	\$3,264.00		. ,		
5.8	Furnish and Install 48" Round Drainage Structure with Curb Inlet	EA	2	' '		\$3,968.00	\$7,936.00	
5.9	Furnish and Install 15" RCP Drainage Pipe	LF	225			\$60.16		
5.10	Connect to Existing Drainage Structure	EA	1	\$1,280.00	\$1,280.00	\$1,280.00	\$1,280.00	
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,							
5.11	base, GFI WP, hand hole, fuses (Complete)	EA	8	T - /		\$8,303.36		
5.12	Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching)	LF	500	'		\$9.24	\$4,620.00	
5.13	Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	600			\$20.65	\$12,390.00	
5.14	Furnish and Install Pull boxes with traffic rated cover	EA	2	Ŧ ,		\$2,186.24		
5.15	Miscellaenous Electrical	LS	1	\$7,040.00		\$7,040.00		
5.16	Remove and Dispose of Existing Asphalt Pavement	SY	1800			\$5.12	\$9,216.00	
5.17	Remove and Dispose of Existing Concrete	SY	20					
5.18	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	1950			\$10.88	\$21,216.00	
5.19	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	1950					
5.20	Furnish and Place Limerock Base (8" Thickness)	SY	1950	-		\$14.72	\$28,704.00	
5.21	Stabilization of Subgrade (12" Thickness)	SY	1950			\$8.32	\$16,224.00	
5.22	Furnish and Install Type F Curb and Gutter	LF	400			\$31.95	\$12,780.00	
5.23	Remove and Reinstall Existing Sign	EA	3	т		\$172.80	\$518.40	
5.24	Furnish and Place Temporary Striping	LF	1600		•	\$0.38	\$608.00	
5.25	Furnish and Place 4" Thermoplastic (solid white/blue)	LF	40	· ·	\$84.40	\$2.11	\$84.40	
5.26	Furnish and Place 6" Thermoplastic (solid white/yellow)	LF	800				\$1,128.00	
5.27	Furnish and Place 6" Thermoplastic (double yellow)	LF	570			\$2.56	\$1,459.20	
5.28	Furnish and Place 6" Thermoplastic 10'-30' skip	LF	160	'		\$1.54	\$246.40	
5.29	Furnish and Place 24" Thermoplastic (stop bar)	LF	10	·		\$5.38		
5.30	Furnish and Place Pavement Message & Symbols	EA	4	Ψ <b>22</b> 1100		\$224.00		
5.31	Furnish and Place Reflective Pavement Markers	EA	26			\$4.86	\$126.36	
5.32	Furnish and Place ADA Detectable Warning	EA	4	\$608.00	\$2,432.00	\$608.00	\$2,432.00	

L-09-17 Step 2			West Construc	tion, Inc.	State Contracting 8	& Engineering Corp.
			820 N 4th Stree	et	3800 N 29th Avenu	ie
			Lantana, FL 33	462	Hollywood, FL 3302	20
Description	UOM	QTY	Unit	Extended	Unit	Extended

				Lantana, FL 33462		Hollywood, FL 33020	
Line	Description	UOM	QTY	Unit Extended		Unit	Extended
5	Phase 5 Subtotal		1		\$426,455.607		\$585,734.00
5.1	Mobilization	LS	1	\$55,000.00	\$55,000.00	\$57,000.00	\$57,000.00
5.2	Maintenance of Traffic	LS	1	\$33,000.00	\$33,000.00	\$137,000.00	\$137,000.00
5.3	Bonds and Insurance	LS	1	\$13,200.00	\$13,200.00	\$14,400.00	\$14,400.00
5.4	Permit Fees	AL	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
5.5	Construction Contingency	AL	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
5.6	Consideration for Indemnification	LS	1	\$11.00	•		\$10.00
5.7	Furnish and Install Type C Drainage Structure with Curb Inlet	EA	1	\$4,070.00	\$4,070.00	\$4,039.73	\$4,039.73
5.8	Furnish and Install 48" Round Drainage Structure with Curb Inlet	EA	2	\$4,152.50	\$8,305.00	\$5,380.05	\$10,760.10
5.9	Furnish and Install 15" RCP Drainage Pipe	LF	225	\$55.00	\$12,375.00	\$109.29	\$24,590.25
5.10	Connect to Existing Drainage Structure	EA	1	\$1,650.00	\$1,650.00	\$550.00	\$550.00
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,						
5.11	base, GFI WP, hand hole, fuses (Complete)	EA	8	\$11,357.50	\$90,860.00	\$7,595.60	\$60,764.80
5.12	Furnish and Install Conduit and Wire (3#8 in 1" conduit, cutting and patching)	LF	500	\$12.10	\$6,050.00	\$11.85	\$5,925.00
5.13	Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	600	\$14.674	\$8,804.40	\$13.72	\$8,232.00
5.14	Furnish and Install Pull boxes with traffic rated cover	EA	2	\$1,375.00	\$2,750.00	\$1,266.43	\$2,532.86
5.15	Miscellaenous Electrical	LS	1	\$5,500.00	\$5,500.00	\$6,500.00	\$6,500.00
5.16	Remove and Dispose of Existing Asphalt Pavement	SY	1800	\$4.95	\$8,910.00	\$7.10	\$12,780.00
5.17	Remove and Dispose of Existing Concrete	SY	20	\$14.85	\$297.00	\$91.41	\$1,828.20
5.18	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	1950	\$8.69	\$16,945.50	\$8.99	\$17,530.50
5.19	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	1950	\$6.325	\$12,333.75	\$6.34	\$12,363.00
5.20	Furnish and Place Limerock Base (8" Thickness)	SY	1950	\$16.50	\$32,175.00	\$11.76	\$22,932.00
5.21	Stabilization of Subgrade (12" Thickness)	SY	1950	\$8.80	\$17,160.00	\$4.96	\$9,672.00
5.22	Furnish and Install Type F Curb and Gutter	LF	400	\$22.00	\$8,800.00	\$19.74	\$7,896.00
5.23	Remove and Reinstall Existing Sign	EA	3	\$220.00	\$660.00	\$203.50	\$610.50
5.24	Furnish and Place Temporary Striping	LF	1600	\$0.275	\$440.00	\$1.37	\$2,192.00
5.25	Furnish and Place 4" Thermoplastic (solid white/blue)	LF	40	\$0.55	\$22.00	\$0.95	\$38.00
5.26	Furnish and Place 6" Thermoplastic (solid white/yellow)	LF	800	\$0.77	\$616.00	\$1.10	\$880.00
5.27	Furnish and Place 6" Thermoplastic (double yellow)	LF	570	\$1.54	\$877.80	\$2.20	\$1,254.00
5.28	Furnish and Place 6" Thermoplastic 10'-30' skip	LF	160	\$0.825	\$132.00	\$1.65	\$264.00
5.29	Furnish and Place 24" Thermoplastic (stop bar)	LF	10	\$4.40	\$44.00	\$5.25	\$52.50
5.30	Furnish and Place Pavement Message & Symbols	EA	4	\$165.00	\$660.00	\$385.00	\$1,540.00
5.31	Furnish and Place Reflective Pavement Markers	EA	26	\$4.40	\$114.40	\$5.50	
5.32	Furnish and Place ADA Detectable Warning	EA	4	\$550.00	\$2,200.00	\$495.00	\$1,980.00

1901 W Cypress Creek Road 1400 Alabama Avenue Ft. Lauderdale, FL 33309 West Palm beach, FL 33401 **UOM QTY** Line **Description** Unit **Extended** Unit Extended Furnish and Install Concrete Sidewalk SF 1750 \$7.55 \$13,212.50 \$9.66 \$16.905.00 Furnish and Install Bursera simaruba, Gumbo Limbo (B&B, 12' HT, 6' SPRD, 3" 5.34 EΑ \$1,216.00 \$4,864.00 \$512.00 \$2,048.00 Furnish and Install Cordia sebestena, Orange Geiger (B&B, 10' HT, 42" SPRD, 2" 5.35 CAL) EΑ \$1,216.00 \$10,944.00 \$371.20 \$3,340.80 EΑ 5.36 Furnish and Install Pinus elliotti, Slash Pine (B&B, 12'-14' HT, 6' SPRD, 3"CAL) \$960.00 \$4,800.00 \$499.20 \$2,496.00 Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6' 5.37 SPRD. 3"CAL) EΑ \$2.880.00 \$8.640.00 \$1.024.00 \$3.072.00 Furnish and Install Sabal Palmetto, Cabbage Palm (B&B, 10?-14? HT, Full) EΑ \$2,368.00 5.38 5 \$1,024.00 \$5,120.00 \$473.60 5.39 Furnish and Install Sabal Palmetto, Cabbage Palm (B&B, 12? CT, Full) EΑ \$1,024.00 \$9,216.00 \$473.60 \$4,262.40 425 5.40 Furnish and Install Carissa macrocarpa, Dwarf Natal Plum (12"HT, FULL) EΑ \$23.04 \$9,792.00 \$10.24 \$4,352.00 5.41 Furnish and Install Clusia guttifera, Small Leaf Clusia (24" HT, FULL) EΑ 185 \$44.80 \$8,288.00 \$1,894.40 \$10.24 Furnish and Install Conocarpus erectus 'Sericeus', Silver Buttonwood (24" HT, 5.42 FULL) EΑ 187 \$32.00 \$5,984.00 \$10.24 \$1,914.88 Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL) 5.43 EΑ 154 \$23.04 \$3.548.16 \$8.96 \$1.379.84 Furnish and Install Ficus microcarpa 'Green Island', Green Island Ficus (12" HT. 5.44 FULL) EΑ 252 \$23.04 \$5,806.08 \$10.24 \$2,580.48 5.45 Furnish and Install Serenoa repens 'Cinerea', Silver Saw Palmetto (12" HT, FULL) EA 82 \$57.60 \$4,723.20 \$23.04 \$1,889.28 5.46 Furnish and Install Tripsacum dactyloides, Fakahatchee Grass (24" HT, FULL) EΑ 238 \$23.04 \$5,483.52 \$9.60 \$2,284.80 5.47 Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD) EΑ 82 \$13.44 \$1,102.08 \$5.76 \$472.32 437 Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD) \$1.15 \$502.55 \$0.47 \$205.39 5.48 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10 5.49 EΑ \$28.11 \$84.33 \$44.80 \$134.40 5.50 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15 EΑ 51 \$28.11 \$1,433.61 \$44.80 \$2,284.80 Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15 on EΑ 5.51 Riser 12 \$31.34 \$376.08 \$44.80 \$537.60 5.52 Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser EΑ 16 \$12.10 \$193.60 \$128.00 \$2.048.00 Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2" 5.53 EΑ \$940.80 \$3.763.20 \$768.00 \$3.072.00 4 Furnish and Install Lateral Line: PVC Schedule 40 LF 1180 \$2.53 \$2,985.40 \$3,776.00 5.54 \$3.20 5.55 Furnish and Install Mainline: PVC Schedule 40 LF 260 \$2.53 \$657.80 \$3.20 \$832.00 Furnish and Install Pipe Sleeve: PVC Schedule 80 60 \$17.79 5.56 \$1,067.40 \$6.40 \$384.00

The Whiting-Turner Contracting Co.

West Construction, Inc. 820 N 4th Street Lantana, FL 33462 State Contracting & Engineering Corp.
3800 N 29th Avenue
Hollywood, FL 33020

Line	Description	UOM	QTY	Unit	Extended	Unit	Extended
5.33	Furnish and Install Concrete Sidewalk	SF	1750	\$5.50	\$9,625.00	\$6.00	\$10,500.00
	Furnish and Install Bursera simaruba, Gumbo Limbo (B&B, 12' HT, 6' SPRD, 3"						
5.34	CAL)	EA	4	\$500.50	\$2,002.00	\$400.00	\$1,600.00
	Furnish and Install Cordia sebestena, Orange Geiger (B&B, 10' HT, 42" SPRD, 2"						
5.35	CAL)	EA	9	\$335.50	\$3,019.50	\$400.00	\$3,600.00
5.36	Furnish and Install Pinus elliotti, Slash Pine (B&B, 12'-14' HT, 6' SPRD, 3"CAL)	EA	5	\$390.50	\$1,952.50	\$500.00	\$2,500.00
	Furnish and Install Quercus virginiana, Southern Live Oak (B&B, 14' OAH, 6'						
5.37	SPRD, 3"CAL)	EA	3	\$693.00	\$2,079.00	\$900.00	\$2,700.00
5.38	Furnish and Install Sabal Palmetto, Cabbage Palm (B&B, 10?-14? HT, Full)	EA	5	\$418.00	\$2,090.00	\$300.00	\$1,500.00
5.39	Furnish and Install Sabal Palmetto, Cabbage Palm (B&B, 12? CT, Full)	EA	9	\$418.00	\$3,762.00	\$300.00	\$2,700.00
5.40	Furnish and Install Carissa macrocarpa, Dwarf Natal Plum (12"HT, FULL)	EA	425	\$17.05	\$7,246.25	\$57.64	\$24,497.00
5.41	Furnish and Install Clusia guttifera, Small Leaf Clusia (24" HT, FULL)	EA	185	\$16.775	\$3,103.375	\$75.64	\$13,993.40
	Furnish and Install Conocarpus erectus 'Sericeus', Silver Buttonwood (24" HT,						
5.42	FULL)	EA	187	\$15.40	\$2,879.80	\$75.64	\$14,144.68
5.43	Furnish and Install Dianella tasmanica 'Variegata', Flax Lily (12" HT, FULL)	EA	154	\$15.40	\$2,371.60	\$55.64	\$8,568.56
	Furnish and Install Ficus microcarpa 'Green Island', Green Island Ficus (12" HT,						
5.44	FULL)	EA	252	\$15.40	\$3,880.80	\$55.64	\$14,021.28
5.45	Furnish and Install Serenoa repens 'Cinerea', Silver Saw Palmetto (12" HT, FULL)	EA	82	\$23.10	\$1,894.20	\$95.64	\$7,842.48
5.46	Furnish and Install Tripsacum dactyloides, Fakahatchee Grass (24" HT, FULL)	EA	238	\$15.125	\$3,599.75	\$55.64	\$13,242.32
L		L.				<b>.</b>	
5.47	Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD)	EA	82	\$9.90	· · · · · · · · · · · · · · · · · · ·	·	
5.48	Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD)	SF	437	\$0.286	·		
5.49	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-10	EA	3	\$21.45		·	·
5.50	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15	EA	51	\$21.45	\$1,093.95	\$55.00	\$2,805.00
	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-15 on	L.		<b>.</b>		<b>.</b>	
5.51	Riser	EA	12	\$21.45			·
5.52	Furnish and Install Bubbler: Rain Bird 1800-1404 Flood, on Flex Riser	EA	16			·	·
5.53	Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2"	EA	4	\$440.00	. ,		
5.54	Furnish and Install Lateral Line: PVC Schedule 40	LF	1180	\$3.575		·	
5.55	Furnish and Install Mainline: PVC Schedule 40	LF	260	\$5.775	. ,		. ,
5.56	Furnish and Install Pipe Sleeve: PVC Schedule 80	LF	60	\$7.975	\$478.50	\$10.00	\$600.00

	L-09-17 Step 2	The Whiting-Turner Contracting Co.		Burkhardt Construction, Inc.				
		1901 W Cypress C	reek Road	1400 Alabama Avenue				
				Ft. Lauderdale, FL	33309	West Palm beach, FL 33401		
Line	Description	UOM	QTY	Unit	Unit Extended		Extended	
6	Phase 6 Subtotal		1		\$203,542.96		\$225,435.59	
6.1	Mobilization	LS	1	\$12,352.00	\$12,352.00	\$12,556.80	\$12,556.80	
6.2	Maintenance of Traffic	LS	1	\$3,584.00	\$3,584.00	\$14,000.00	\$14,000.00	
6.3	Bonds and Insurance	LS	1	\$2,560.00	\$2,560.00			
6.4	Permit Fees	AL	1	\$1,000.00	\$1,000.00			
6.5	Construction Contingency	AL	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
6.6	Consideration for Indemnification	LS	1	\$10.00	\$10.00		\$10.00	
6.7	Reline Existing Sewer Lateral	EA	9	\$4,608.00	\$41,472.00	\$4,608.00	\$41,472.00	
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,							
6.8	base, GFI WP, hand hole, fuses (Complete)	EA	1	\$8,286.27	\$8,286.27	\$8,286.27	\$8,286.27	
6.9	Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	300	\$21.56	\$6,468.00		\$6,468.00	
6.10	Miscellaenous Electrical	LS	1	\$7,040.00	\$7,040.00	\$7,040.00	\$7,040.00	
6.11	Remove and Dispose of Existing Asphalt Pavement	SY	1450	\$5.76	\$8,352.00		\$8,352.00	
6.12	Remove and Dispose of Existing Concrete	SY	250	\$5.44	\$1,360.00	\$5.44	\$1,360.00	
6.13	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	1100	\$10.88	\$11,968.00		\$11,968.00	
6.14	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	1100	\$7.23	\$7,953.00		\$7,953.00	
6.15	Furnish and Place Limerock Base (8" Thickness)	SY	1100	\$14.72	\$16,192.00	\$14.72	\$16,192.00	
6.16	Stabilization of Subgrade (12" Thickness)	SY	1100	-	\$9,152.00	\$8.32	\$9,152.00	
6.17	Furnish and Install Valley Gutter	LF	930	\$23.04	\$21,427.20	\$30.31	\$28,188.30	
6.18	Remove and Reinstall Existing Sign	EA	5	\$211.20	\$1,056.00	\$211.20	\$1,056.00	
6.19	Furnish and Place Temporary Striping	LF	1000	\$0.38	\$380.00	\$0.38	\$380.00	
6.20	Furnish and Place 6" Thermoplastic (solid white/yellow)	LF	830	\$1.41	\$1,170.30		\$1,170.30	
6.21	Furnish and Place 6" Thermoplastic (double yellow)	LF	150	\$2.56	\$384.00		\$384.00	
6.22	Furnish and Place 24" Thermoplastic (stop bar)	LF	20	\$5.38	\$107.60	\$5.38	\$107.60	
6.23	Furnish and Place Reflective Pavement Markers	EA	8	\$4.86	\$38.88		\$38.88	
6.24	Furnish and Place ADA Detectable Warning	EA	11	\$608.00	\$6,688.00	\$608.00	\$6,688.00	
6.25	Furnish and Install Concrete Sidewalk	SF	1750	\$7.55	\$13,212.50	\$9.66	\$16,905.00	
6.26	Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD)	EA	145	\$13.44	\$1,948.80	\$5.76	\$835.20	
6.27	Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD)	SF	1552	\$1.15	\$1,784.80	\$0.47	\$729.44	
6.28	Tree Removal	EA	1	\$192.00	\$192.00	\$6,272.00	\$6,272.00	
6.29	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-08	EA	61	\$28.11	\$1,714.71	\$44.80	\$2,732.80	
6.30	Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2"	EA	1	\$940.80	\$940.80	\$768.00	\$768.00	
6.31	Furnish and Install Lateral Line: PVC Schedule 40	LF	680	\$2.53	\$1,720.40	\$3.20	\$2,176.00	
6.32	Furnish and Install Mainline: PVC Schedule 40	LF	10	\$2.53	\$25.30	\$3.20	\$32.00	
6.33	Furnish and Install Pipe Sleeve: PVC Schedule 80	LF	180	\$16.68	\$3,002.40		\$1,152.00	
	TOTAL				\$5,744,965.18		\$5,789,955.89	

	L-09-17 Step 2	West Constru				t Construction, Inc. State Contracting & Engineering Corp		
				820 N 4th Stree	et	3800 N 29th Avenue		
				Lantana, FL 33	3462	Hollywood, FL 330	20	
Line	Description	UOM	QTY	Unit	Extended	Unit	Extended	
6	Phase 6 Subtotal		1		\$228,642.872		\$314,187.56	
6.1	Mobilization	LS	1	\$33,000.00	\$33,000.00	\$31,000.00	\$31,000.00	
6.2	Maintenance of Traffic	LS	1	\$22,000.00	\$22,000.00	\$112,995.00	\$112,995.00	
6.3	Bonds and Insurance	LS	1	\$11,000.00	\$11,000.00	\$7,800.00	\$7,800.00	
6.4	Permit Fees	AL	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	
6.5	Construction Contingency	AL	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
6.6	Consideration for Indemnification	LS	1	\$11.00	\$11.00	\$10.00	\$10.00	
6.7	Reline Existing Sewer Lateral	EA	9	\$3,300.00	\$29,700.00	\$3,325.00	\$29,925.00	
	Furnish and Install 14' Aluminum Pole and Philips Lumerc Leonis LED Fixture,							
6.8	base, GFI WP, hand hole, fuses (Complete)	EA	1	\$8,800.00	\$8,800.00	\$7,595.00	\$7,595.00	
6.9	Furnish and Install Conduit and Wire (3#6 in 2" conduit, cutting and patching)	LF	300	\$13.20	\$3,960.00	\$13.93	\$4,179.00	
6.10	Miscellaenous Electrical	LS	1	\$5,500.00	\$5,500.00	\$6,500.00	\$6,500.00	
6.11	Remove and Dispose of Existing Asphalt Pavement	SY	1450	\$4.95	\$7,177.50	\$8.83	\$12,803.50	
6.12	Remove and Dispose of Existing Concrete	SY	250	\$14.85	\$3,712.50	\$9.10	\$2,275.00	
6.13	Furnish and Place Asphalt Pavement - Type S-1 1st Lift (1-1/4")	SY	1100	\$8.69	\$9,559.00	\$8.99	\$9,889.00	
6.14	Furnish and Place Asphalt Pavement - Type S-III 2nd Lift (3/4")	SY	1100	\$6.325	\$6,957.50	\$6.34	\$6,974.00	
6.15	Furnish and Place Limerock Base (8" Thickness)	SY	1100	\$16.50	\$18,150.00	\$11.76	\$12,936.00	
6.16	Stabilization of Subgrade (12" Thickness)	SY	1100	\$8.80	\$9,680.00	\$2.34	\$2,574.00	
6.17	Furnish and Install Valley Gutter	LF	930	\$22.00	\$20,460.00	\$19.74	\$18,358.20	
6.18	Remove and Reinstall Existing Sign	EA	5	\$220.00	\$1,100.00	\$203.50	\$1,017.50	
6.19	Furnish and Place Temporary Striping	LF	1000	\$0.275	\$275.00	\$1.37	\$1,370.00	
6.20	Furnish and Place 6" Thermoplastic (solid white/yellow)	LF	830	\$0.77	\$639.10	\$1.10	\$913.00	
6.21	Furnish and Place 6" Thermoplastic (double yellow)	LF	150	\$1.54			\$330.00	
6.22	Furnish and Place 24" Thermoplastic (stop bar)	LF	20	\$4.40	\$88.00	\$5.25	\$105.00	
6.23	Furnish and Place Reflective Pavement Markers	EA	8	\$4.40	\$35.20	\$5.50	\$44.00	
6.24	Furnish and Place ADA Detectable Warning	EA	11	\$550.00	\$6,050.00	\$495.00	\$5,445.00	
6.25	Furnish and Install Concrete Sidewalk	SF	1750	\$5.50	\$9,625.00	\$6.00	\$10,500.00	
6.26	Furnish and Install Trachelospermum asiaticum, Asian Jasmine (4" HT, 6" SPD)	EA	145	\$9.90	\$1,435.50	\$51.64	\$7,487.80	
6.27	Furnish and Install Paspalum notatum `Argentine`, Bahia Grass (SOD)	SF	1552	\$0.286	\$443.872	\$1.28	\$1,986.56	
	Tree Removal	EA	1	\$880.00	\$880.00	\$200.00		
6.29	Furnish and Install Pop-up Sprays: Rain Bird RD-12-S-P30-F HE-VAN-08	EA	61	\$21.45	\$1,308.45	\$55.00	\$3,355.00	
6.30	Furnish and Install Remote Control Valve: Rain Bird PESB-PRS-D 1-1/2"	EA	1	\$440.00	\$440.00	\$375.00	\$375.00	
6.31	Furnish and Install Lateral Line: PVC Schedule 40	LF	680	\$3.575	\$2,431.00	\$3.50	\$2,380.00	
6.32	Furnish and Install Mainline: PVC Schedule 40	LF	10	\$5.775	\$57.75	\$6.50	\$65.00	
6.33	Furnish and Install Pipe Sleeve: PVC Schedule 80	LF	180	\$7.975	\$1,435.50	\$10.00	\$1,800.00	
	TOTAL				\$5,818,582.329		\$7,999,947.048	

Pending funding, delay award of Phase 3 and \$200,000.00 in contingency funds **GRAND TOTAL** 

L-09-17 Step 2 The Whiting-Turner Contracting Company Burkhardt Construction, Inc. West Construction, Inc. State Contracting & Engineering Corporation

Number	Attribute Name	Response	Response	Response	Response
1	Substantial Project Completion	370	240	240	300
2	Final Project Completion	420	30	270	30
3	Conflict of Interest	No	No	No	No
4	Drug-Free Workplace	Yes	Yes	Yes	Yes
E	Vendor Certification Regarding	Certified	Certified	Certified	Certified
5	Scrutinized Companies Lists	Certined	Certified	Certified	Certified
8	Terms & Conditions	Agree	Agree	Agree	Agree
9	Acknowledgement of Addenda	Yes	Yes	Yes	Yes